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UGC NET PAPER 2 DECEMBER 25, 2021 SHIFT 1 COMMERCE

Topic:- Commerce_25NSH1_SHAAN_NOVZ1A

1) Which is the most potent driver of business transformation during Covid — 19 pandemic?

(1) Ethical consciousness

2 Scale economies and pricing power

(3) Technology adoption and innovation

(4) Supply chain logistics and government interventions
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[Question ID = 1411][Question Description = Q01_Commerce_25N51_SHAAN_NOV21]
1. 1 [Option ID = 5641]
2. 2 [Option ID = 5642]
3. 3 [Option ID = 5643]
4. 4 [Option ID = 5644]

Correct Answer ;-
e 1 [Option ID = 5641]

2) Counter Vailing Duties (CVD) are often imposed on imports to offset the impact of

(D Predatory pricing (2) Export subsidies
(3) Dumping (4) Low cost financing
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[Question ID = 1412][Question Description = Q02_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5645]
2. 2 [Option ID = 5646]
3. 3 [Option ID = 5647]
4. 4 [Option ID = 5648]

Carrect Answer ;-
& 1 [Option ID = 5845]

3) ;g : : : : :
To prevent opportunistic takeover of domestic firms amid Covid — 19 pandemic, Foreign
Direct Investment (FDI) from countries that share borders with India 1s allowed through

(1) Automatic route (2) Government route
(3) FIPB route (4) DPIIT route

Fifag-19 wgmrd % offa oie wui i s foe ¥ sun 3 wRa & e 0 % et
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[Question ID = 1413][Question Description = Q03_Commerce_25NS1_SHAAN_NOV21]

1. 1 [Option ID = 5649]
| 2. 2 [Option ID = 5650]
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| 3. 3 [Option ID = 5651]
4. 4 [Option ID = 5652]

Carrect Answer ;-
& 1 [Option ID = 5849]

Factor conditions in Michael Porter's competitive advantage of Nations include
(@b Market size (2) Demand conditions
(3) Internationally competitive suppliers (4) Skilled labour and scientific knowledge

HIZehel UIK o gl & faeauionas o <l =re affeufat o mive 2
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[Question ID = 1414][Question Description = Q04_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5653]
2. 2 [Option ID = 5654]
3. 3 [Option ID = 5655]
4. 4 [Option ID = 5656]

Carrect Answer ;-
& 1 [Option ID = 5A/3]

In case the purchasing company agrees to act as the agent of the vendor for collection of the
book debts, in the books of the purchasing company. the amount of debtors should be

credited to
(1) Vendor’s debtors account (2) Vendor's suspense account
(3) Debtors account (4) Creditors account

¢ Shell U1 W1 K ok WHEY % e ka1 o WO % ¥ § &1E % fow wewd gl 2, @ s
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[Question ID = 1415][Question Description = Q05_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5657]
2. 2 [Option ID = 5658]
3. 3 [Option ID = 5659]
4. 4 [Option ID = 5660]

Carrect Answer ;-
s 1 [Option ID = 5657]

When the value of “Investment in subsidiary” in the holding company’s balance sheet 1s more
than the book value of the net assets acquired, the difference represents

(1) Capital reserve on consohdation (2) Goodwill on consolidation
(3) Minority interest (4) Post acquisition profit

S gaar st & seiasiiz 1 wams sl 1@ Fan w1 gen sl Fee aofa & gwe gen | s
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[Question ID = 1416][Question Description = Q06_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5661]
| 2. 2 [Option ID = 5662]
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| 3. 3[Option ID = 5663]
4. 4 [Option ID = 5664]

Carrect Answer ;-
& 1 [Option ID = 5A61]

’ The basic method of valuing human assets 1s
(1) Adjustment (2) Amortization
(3) Capitalization (4) Quasi equity
ara gheefadl % geae 6t ga fafa = 2
(1)  GuESH @) uhEius
(3 Yol @ g s

[Question ID = 1417][Question Description = Q07_Commerce_25NS1_SHAAN_NOV21]

1. 1 [Option ID = 5665]
2. 2 [Option ID = 5666]
3. 3 [Option ID = 5667]
4. 4 [Option ID = 5668]
Carrect Answer :-

e 1 [Option ID = 5665]

8)

the sacrificing ratio of X and Y?

(1) 4:3 (2) 13:8
(3 8:13 @ 4:17

X 3t Y @ 3 @ify # 4: 3% U § S 5 WEER 23 Z # %é%@%%ﬂqﬁmﬂﬁ
wftrer @ 31 X o Y Wit @ @) 2 1% ST § At fofr e 21 X o Y F em o

UK FA1 37
() 4:3 (2 18:8
3y 8:13 @ 4:17

[Question ID = 1418][Question Description = Q08_Commerce_2Z5NS1_SHAAN_NOV21]

1. 1 [Option ID = 5669]
2. 2 [Option ID = 5670]
3. 3 [Option ID = 5671]
4. 4 [Option ID = 5672]

Carrect Answer ;-
® 1 [Option ID = 5669]

The value of the firm 1n wealth maximisation objective 1s measured by

1 Present value of all expected future cash flows
(2) All expected future cash flows

(3) Present value of all expected future profits

(4 All expected future profits

vq FAfyrarfierm 3geva § v & g ) i 2 2
(1) T YIRE 9= e Y92 % J99H 4o g
(2) TG YR e Yarg & ged ghl

(8) T wenti| e Al o 9EuF gey

(4)  TuE yefEE weh ey

[Question ID = 1419][Question Description = Q09_Commerce_25NS1_SHAAN_NOV21]

X and Y are partners, sharing profits and losses in the ratio of 4 : 3. They admit Z into the
partnership for %‘h share. X and Y decide to share future profits in the ratio of 2 ;: 1. What 1s
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. 1 [Option ID = 5673]

2 [Option ID = 5674] Your Personal Exams Guide
3 [Option ID = 5675]
. 4 [Option ID = 5676]

N S PO L ey

Correct Answer :-
e 1 [Option ID = 5673]

10)  For a decline in price, total revenue declines if the demand of the product 1s
(1) Inelastic (2) Elastic
(3) Unitary elastic (4) Zero elastic

iAd A B % Taw, e s § FH AR 2 afg e i

(1) F=ER 3@ (2) @EER F
(3) e EEE A (4) = AER B

[Question ID = 1420][Question Description = Q10_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Optien ID = 5677]
2. 2 [Optien ID = 5678]
3. 3 [Option ID = 5679]
4. 4 [Option ID = 5680]

Correct Answer ;-
e 1 [Option ID = 5677]

1) In Cobb — Douglas production function, @ = AK®L” increasing returns to scale occurs when
)] a+b>1 2 K+L=1
(3) at+b=<l 4) K+L<l1

HA-ZTAY I o 1, Q = AKPLP woft W wgd 0 U ufawad e g g Al

(1) atb>=1 2) K+L=1
(3) a+bh<l 4 EK+L<l

[Question ID = 1421][Question Description = Q11_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5681]
2. 2 [Option ID = 5682]
3. 3 [Option ID = 5683]
4. 4 [Option ID = 5684
Correct Answer :-

e 1 [Option ID = 5681]

12} The extreme case of non—price competition in an Oligopoly is
(1) Formation of cartels (2) Interdependent decision — making
(3) Attaining economies of scale (4) Formation of duopoly

feft sreaTiesm 9 § -Fima vt 1 o9 3T 2

(1)  F@d g1 (2) A FokE
(3) oS W W ST i F90 R A FEA (4)  GENTERR o

[Question ID = 1422][Question Description = Q12_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5685]
2. 2 [Option ID = 5686]
3. 3 [Option ID = 5687]
4. 4 [Option ID = 5688
Correct Answer ;-

e 1 [Option ID = 5685]
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13) Pecking order theory in finance 1s based on the assertion of Your Personal Exams Guide
€} Asymmetric information between managers and investors

(2) Symmetric information between managers and investors

(3) Outside information

(4) Asymmetric information among investors only
&m o gfen ek Redt Frotaias = w snaniE 2
(1)  vouhi 3R Feenl % s smmEa 3=
(2)  vEUSHl R FeerR % s auina gEe
(3) @l =
(4) e FewrRl § STEEHe gE
[Question ID = 1423][Question Description = Q13_Commerce_25N51_SHAAN_NOV21]
1. 1 [Option ID = 5689]
2. 2 [Option ID = 5690]
3. 3 [Option ID = 5691]
4, 4 [Option ID = 5692]
Correct Answer :-
L e [Option ID = 5689]

If a project cost 18 ¥ 40.000. Its stream of earning before depreciation and tax during first
yvear through five years 1s expected to be ¥ 10,000, ¥ 12,000, ¥ 14,000, ¥16.000 and
€ 20.000. Assume a 50% tax rate and depreciation on straight line basis:; project’s ARR 1s

(1) 14.40% @) T72%
(3  16% @ 55.56%

Ife wep giEsEn & e T 40,000 21 92 Y =0 9y 9% eus 3R @ & T 3 6 YA FH:

Z10.000, ¥ 12.000, T 14,000, ¥ 16,000 31 T 20,000 21 91 & f& & H ¢ 50% 2 3N g=gm
Hieht [an & 9n Uy g 21 9IS 6 T AR AR (ARR) ®

(1) 14.40% @  72%
3 16% @) 55.56%

[Question ID = 1424][Question Description = Q14_Commerce_25N51_SHAAN_NOV21]
1. 1 [Option ID = 5693]
2. 2 [Option ID = 5694]
3. 3 [Option ID = 5695]
4, 4 [Option ID = 5696]

Correct Answer ;-
e 1 [Option ID = 5693]

According to the theory of dividend, the firm should follow its investment policy of accepting
all positive NPV projects and paying out dividends if and only if, funds are available:

(1) Bird in hand theory (2) Investor rationality theory
(3) 100 percent retention theory (4) Residual theory

Ay F W fag@ & saEn gfeew @ Ao Frew Aifg wg seh ifze f wd weers NPV
giEremIsn 1 WBR for STre 3tk a1 yam T s afq 3R e afg Ty sgerey 3

(1) =€ e fage 2 Traws adunid g
() 100 ufasra ufaanw firzmE Ay arafre firem
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[Question ID = 1425][Question Description = Q15_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Optien ID = 5697]
2. 2 [Option ID = 5698]
3. 3 [Optien ID = 5699]
4. 4 [Option ID = 5700]

Correct Answer ;-
e 1 [Option ID = 5697]

In Securitisation when no assets are acquired and the collateral is fixed for the life of the
asset, the type of a structure 1s called as

(1) Revolving structure (2) Amortized structure
(3) Collateralized structure (4) Self — liquidating strucutre

wfengdrason 3 S et wimufy 1 siarewr 38 fear i @ s oif¥ds =1 afdefs 6 gl sty & fau

fafea = fom o 2, <1 08 9 =+ @wd §
(1) ol g (2) afemies g
(3)  wifvdhpa =t @) w-uidiys gt

[Question ID = 1426][Question Description = Q16_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5701]

2. 2 [Option ID = 5702]

3. 3 [Option ID = 5703]

4. 4 [Option ID = 5704]

Correct Answer ;-

e 1 [Option ID = 5701]

17)  For a very large sample size the ratio between SEgx and o is 8: 40. Determine the sample
size n:
1y 25 2 5
3 4 (4) 16

U wgd w3 Nagd seR % T SEx 31 ¢ %I 3YE 8 : 40 31 wiee 1R n faifa =i -

(1) 25 2 5
3 4 4) 16

[Question ID = 1427][Question Description = Q17_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5705]
2. 2 [Option ID = 5706]
3. 3 [Option ID = 5707]
4. 4 [Option ID = 5708]

Carrect Answer ;-
& 1 [Option ID = 5705]

For a given set of paired data. the correlation and regression coefficients have been
calculated as being equal to r, bxy and byx respectively. Now, each of the values of the x
series 1s divided by 5. What effect does 1t have on each of these co — efficients?

1) The three co—efficients remain unchanged

(2 There 1s no change n r but by x changes to byx/5 and bxy changes to & bxy

(3) Each of the co—efficients will be reduced to one fourth of its value.

@ There 1s no change In r but byx changes to 5byx and bxy changes to bxy/5

Ifia el % Tordt feu o w=em & oo wevEy 3 9v=rmm TuTsl 6 TR SR 7, bay 3R byx
U 1 T2 21 1 AR e & FHF S ¥ A T I 21 S W S 0T G HH @ G qSell
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(D
2
(3
(4

i T srafafda wa 3

r ¥ A1 @ afada J& 8 9T byx @1 9fiEdH byx/5H BT 2 3 bxy & 5 bxy T ultanq g1 21
T IV U I 3T A F1 -G 31 S|

r U 91 i3 I T2 2 T byx 1 I 5 byx W Bid1 8 3 bay 1 bya/5 U gREe 2@ 21

[Question ID = 1428][Question Description = Q18_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5709]
2. 2 [Option ID = 5710]
3. 3 [Option ID = 5711]
4, 4 [Option ID = 5712]

Correct Answer ;-
a 1 [Option ID = 5709]

19)

Which of the following statement 1s correct?

(1)

(2)
(3
@

Co-efficient of variance = %x 100

If value in a series are negative, the standard deviation is also negative
If value in a series multiplied by o, the variance would be multiplied by 36

Standard deviation is equal to square of variance.

fFreafafga 0 9 sH-w S o83 37

ey

@
(3
@

e I U0 = %xwo

afe forefi sferen &AM w3, 9 Tee fagen i womess g
afe frddl sfen % AR ® ¢ @ N fR ST, 9 SR 36 | Apen 2 S
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[Question ID = 1429][Question Description = Q19_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Optien ID = 5713]
2. 2 [Option ID = 5714]
3. 3 [Optien ID = 5715]
4. 4 [Option ID = 5716]

Correct Answer :-
e 1 [Option ID = 5713]

For a poisson distribution variable X, P(X = 0) = 2P(X = 1), its standard deviation would be:

1) 2 @ 0.5
3 V05 @ 2

o afgEm faam & X & fom, PX = 0) = 2P(X = 1), 91 3961 O [=em 2

ey
(3

V2 @ 05
0.5 4) 2

[Question ID = 1430][Question Description = Q20_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Optien ID = 5717]
2. 2 [Option ID = 5718]
3. 3 [Optien ID = 5719]
4. 4 [Option ID = 5720]

' Correct Answer ;-
e 1 [Option ID = 5717]

21)

A test that contains a fair sample of the tasks and skills actually needed for the job in
question 1s:

prepp
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(1) Construct validity (2) Content vahdity
(3) Test validity (4) Criterion validity

S/l AR wiol w1 & W S 3 A w0 wia s 8, ardfas w9 8 fEmda e % e

I 37
(1) e dean @ fawa dga
(3)  wiav Ay (4) T Qe

[Question ID = 1431][Question Description = Q21_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5721]
2. 2 [Option ID = 5722]
3. 3 [Option ID = 5723]
4. 4 [Option ID = 5724]

Correct Answer ;-
a 1 [Option ID = 5721]

22) y —— . . —
Which among the following 1s not a primary determinant of organizational structure?

(1) Chain and span (2)
(3) Power and control (4)

Capacity and lower needs

Differentiation and integration

frfafiem 4 =9 w1 S /T %1 e nufies faies 7@ 27

(1)  *JEen 3R fan 2)
(3  wfE 3 FEmm

U] 3R HY EIHAN
@ T 3 TR

[Question ID = 1432][Question Description = Q22_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Optien ID = 5725]
2. 2 [Optien ID = 5726]
3. 3 [Option ID = 5727]
4. 4 [Option ID = 5728]

Correct Answer ;-
e 1 [Option ID = 5725]

An act 1n a way that results in the greatest good for the greatest number 1s:

(1) The golden rule (2)
(3) The four way test (4)

The utilitarian principle

Kant’s categorical imperative

% a5 T H foaeht foif wEiftes Gen % foe waffas fga 4 60 2

(1) @i fem (heea 5) 2 It fagra
(3) HR-A wiaw @ 1 h Aviigd srfErEm

[Question ID = 1433][Question Description = Q23_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5729
2. 2 [Option ID = 5730]
3. 3 [Option ID = 5731]
4. 4 [Option ID = 5732
Correct Answer ;-

e 1 [Option ID = 5729]

24) People repeat behaviours that bring them satisfaction and pleasure and stop those that bring
them dissatisfaction or pain is known as:

(1) Law of exercise (2)
(3) Law of effect (4)

Law of redo
Law of readiness

oI U SHEl %l TR-SR HA € S IR Gdfe IR g Wom HE d U W SRR FE B @ 1,
a8 32 sraaise @ % Yg@ X 2, 39 w6 o= %7 o 8
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1)  Fnaw @ T = % Fam
(3)  uftorm =1 fEm (4) aal & Ham

[Question ID = 1434][Question Description = Q24_Commerce_25NS1_SHAAN_NOV21]

1.
2.
3
4.

Correct Answer :-

1 [Option ID = 5733]
2 [Option ID = 5734
3 [Option ID = 5735]
4 [Option ID = 5736

1 [Option ID = 5733]

prepp
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25)

the minmimum requirement of capital fund for banks at ?

(1 8 percent of the total risk weighted assets
(2) 9 percent of the total risk weighted assets
(3) 10 percent of the total risk weighted assets
(4) 1000 crore

e O A wl9-w w2 w87 suel I 9u3id & HAaia =iefisten 3 sfei 6 @St By 6 =g
stravawdl feadt faifa Hi?

(1) 3@ Fifay v gREaRE & 8 yiasd

(2) T Firam wiig giEaragl & 9 wiaerd

(3) o wiflgn wifia gfwefaai = 10 sfasa

4 1000 F1E

[Question ID = 1435][Question Description = Q25_Commerce_25NS1_SHAAN_NOV21]

1.
2
3.
4,

1 [Option ID = 5737]
2 [Option ID = 5738]
3 [Option ID = 5739]
4 [Option 1D = 5740]

Correct Answer ;-

2

1 [Option ID = 5737]

8)  Which of the following statements is correct relating to Indian Finanaal System?

(1) RBI has direct supervision over depositoriess and mutual funds.

() Monetary control 1s exercised through cash reserve ratio and statutory liquidity ratio.

(3) Primary dealers mainly deal in shares. mutual fund units.

(4) The decrease in statutory hquidity ratio contracts the credit creation.

R faefra <oemen & ey O feafefaq d 4 sR-sn sy g 27

(1)  FEurEl 3R g b W SEnE w1 g g g 2 |

2 T Iy sgma o wifsdie e s 5 i @fgs w2
(3 e sl e S iR e b gl 3 SR e Al

(9  wifafter T SEIE § B 3 A w0 gon gEfud 3l S 8l

[Question ID = 1436][Question Description = Q26_Commerce_25NS1_SHAAN_NOV21]

1.
2.
3.
4.

1 [Option ID = 5741]
2 [Option ID = 5742]
3 [Option ID = 5743]
4 [Option ID = 5744]

Correct Answer ;-

1 [Option ID = 5741]

Which one of the following statements is true about under the Basel I Accord, BCBS, fixed
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Which one of the following 1s not one of the advantages of Derivatives market?

(1) Leveraging increases risk
(2) They enhance liquidity in the market for underlying assets
(3) They represent a form of insurance against risks

(4) They reduce price volatility

frifefiea 4 4 - ehafta sem = e 38 272

()  &elm 3 Siflen ag sl 2)

(2) A IR Y sfaffaa gieaf 6 wam 1 gfg ww )
(3) @ Siftemi & fim w1 v w9 E

(@) 9 gou udea § w5 @ 2|

[Question ID = 1437][Question Description = Q27_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5745]
2. 2 [Option ID = 5746]
3. 3 [Option ID = 5747]
4. 4 [Option ID = 5748]

Carrect Answer ;-
& 1 [Option ID = 5745]

Which one of the following statements is not true about Indian Money Market?

(1) Non — Banking Finance Companies (NBFCs) are financial institutions that constitute
organised component of money market.

(2) Money market mutual funds are allowed to sell units to corporates and individuals.
(3) A Well — developed money market 1s essential for a modern economy.

(4) In the Indian Money Market, the predominant place is enjoyed by government and
semi — government securities.

W= 51 91 = fawa 3 Fefaiae 8 8 ®F-31 %9 5w 27

(1)  TR-sif faeim i G e 2 = gg1 9o % @iisa 92w 2t 2]

(2)  TE AR T BE W BN IR AT T SHEAl aa i oTEh Bt 21
(3) sy e * o il qo1 are SEerE 3

(4) R g3 SR H SR 3 oTd-aehr] Thagiae w1 T T 2

[Question ID = 1438][Question Description = Q28_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5749
2. 2 [Option ID = 5750]
3. 3 [Option ID = 5751]
4. 4 [Option ID = 5752]
Correct Answer ;-
e 1 [Option ID = 5749]

Which of the following is not true while determining length of distribution channel?

(1) The larger the market size. the longer the channel.

(2) If the average lot size 1s large, it is better to have a longer channel.

(3) If the product and the market require a high level of service, it 1s advisable to keep a
shorter channel.
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(4) It customers shop for an assortment ol products, 1t demands for a water channel of .
Your Personal Exams Guide

distribution.

TeraRon =it & T & Taior 6 o 399 | i wél 7d 27

1) Foaa 931 SR %1 AR a1 Sd] =1

(2 ik |l % AW ATHE 91 2 dl &1 Fe S 2l

3) IR 3R wE T I WA A N a2 9 e S W e 2
(4) ke g Tl g % Ieqre wliea 2 1 w7 Taxga oo <= < @i s

[Question ID = 1439][Question Description = Q29_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5753]

2. 2 [Option ID = 5754]

3. 3 [Option ID = 5755]

4. 4 [Option ID = 5756]

Correct Answer ;-

e 1 [Option ID = 5753]

30)
Which of the following can be categorized as people processing services?
(1) Health care (2) Legal services
(3) Education (4) Transportation

T B foreen! - whem dal (frge S wfdda) 3 itea e s wwa 27
(1) @ gan ) A and
(3)  faen 4 ulEa

[Question ID = 1440][Question Description = Q30_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5757]

2. 2 [Option ID = 5758]

3. 3 [Option ID = 5759]

4. 4 [Option ID = 5760]

Correct Answer ;-

e 1 [Option ID = 5757]

SBUs or products that have lost their position of leadership and are in the low growth
markets. are known as

(1) Star (2) Problem child
(3 Dog {(4) Cash cow

W vy &l 3 W I R arEE ) ar fRfd @ A R s P vefz semi 8, w2 9w €
(1) WK (2) e HTees

-

3 =M (4 F9FR

[Question ID = 1441][Question Description = Q31_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5761]
2. 2 [Option ID = 5762
3. 3 [Option ID = 5763]
4. 4 [Option ID = 5764]
Correct Answer ;-

e 1 [Option ID = 5761]

32} Which of the following is not a valid basis for market segmentation?

(1) Customer Based Segmentation
(2) Technology Oriented Segmentation
(3) Competition Related Segmentation
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T @i & fae fefafisa @ - g s i 8¢

(1)  UEH-LTRA TSR

()  ateTsfi-snenfa wmo

(3)  ylaaifrar-us:h e

(4)  IAe-daH Wi
[Question ID = 1442][Question Description = Q32_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5765]
2. 2 [Option ID = 5766]

3. 3 [Option ID = 5767]
4, 4 [Option ID = 5768]

Correct Answer ;-
a 1 [Option ID = 5765]

33) Which one of the following statements is a promissory note?
(1) I promase to pay Q Rs.7,000, 7 days after my marmage.
(2) On demand, I promise to pay B or bearer Rs. 5,000

(3) I promise to pay Rs. 5,000 on C's death provided C leaves with me enough money to
pay that sum.

(4) I acknowledge to be indebted to you for Rs. 10,000 to be paid on demand for value
recelved.

famforfiea 8 ¥ S-a1 %29 v gl 2

() o faarg % 7 71 % 916 Q 1 7,000 F98 H1 WEH FH H I=4 a1 3
2 A R IR W B AYE 9iE F 5,000 TR FOWPATH B F TG GO 7
(3) H# C % Y W 5,000 TR & WPAR FE FH g2 ¢ 2 =G0 6 C W U8 38 990 1 9TaE
A 7g vt yuld Sgw Ja 2
(@  # anas ufa 10,000 w3 1 Fwofl Fr v e 8 Frd wra e & for wim wa woare fe
S|
[Question ID = 1443][Question Description = Q33_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5769]
2. 2 [Option ID = 5770]
3. 3 [Option ID = 5771]
4. 4 [Option ID = 5772]

Carrect Answer ;-
& 1 [Option ID = 5769]

34) A claim for ‘quantum meruit’ cannot succeed:

(D) When a divisible contract 1s partly performed.
(2) When an indivisible contract for a lumpsum 1s partly performed.
(3 When a contract is discovered to be unenforceable due to some technical defect.

(4) In the case of breach of contract, the aggrieved party can claim reasonable
compensation for what he has done under the contract.

‘garen Al W1 el awd T8 8 ghar g

(1) & v o wfag sivra: Feariea = S 21
@ o= el weya waafh g sifvrss wfde v Peafea 2 2
(3) a forxfi wiagy =t wfaua g Jfz ) a9z ¥ 7 SF FH T 9= A6 3
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[Question ID = 1444][Question Description = Q34_Commerce_25N51_SHAAN_NOV21]
1. 1 [Option ID = 5773]

2. 2 [Option ID = 5774]

3. 3 [Option ID = 5775]

4. 4 [Option ID = 5776]

Correct Answer ;-

e 1 [Option ID = 5773]

The first offence for infringement of copyright can be for a maximum of imprisonment for a
term of

(1) 6 month and a fine of Rs. 20,000
(2) 3 vears and a fine of Rs. 50,000
(3) 3 years and a fine of Rs. 2,00,000
(4) 1 year and a fine of Rs. 3,00,000

HITRIZZ IooraH o Tgel MY 3G HUEH $i g it sferman amafy 2 .

(1) 6 WA 3 20,000 F9F H HY €2
(2) 399 3R 50,000 TH H 3% <

3 3 ad 3 2,00,000 ¥ F 3 g2
(@ 199 3 3,00,000 %93 #1574 €2

[Question ID = 1445][Question Description = Q35_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5777]
2. 2 [Option ID = 5778)
3. 3 [Option ID = 5779]
4. 4 [Option ID = 5780]

Carrect Answer ;-
@ 1 [Option ID = 5777]

36) Which one of the following conditions does not constitute a valid agency by necessity?

(1 There should have been actual and definite commercial necessity for the agent to act
promptly.

2 The agent should have acted bonafide and for the benefit of the principal.

(3) The agent should have adopted the most reasonable and practicable course under the
circumstances.

4 Destruction of the subject matter of the contract of agency.

frofafiga © A FR-ft wd sravgwaER v dg-waad T8 swdi?

(1)  THE g aedal e i fe 9 % T arafas st fivaa siftfems smeavasa 29 fw
(@)  THUE B A ¥ AT 39 Wl (YEve) % @y gq S S = iEn)

(3)  wowe i uifefedl % T waiiue g S SAEgIie qie A |iae|

(@) I % wfe B favaae w1 s @ S

[Question ID = 1446][Question Description = Q36_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5781]
2. 2 [Option ID = 5782]
3. 3 [Option ID = 5783]
4. 4 [Option ID = 5784]

Correct Answer ;-
e 1 [Option ID = 5781]
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37 : . ] : . . .
) If assesssee 1s engaged in the business of growing and manufacturing tea in India, the

non-agricultural income in that case be:
(1) 40% the income from such business

(2) 25% the Income from such business
(3) 60% the income from such business
(4) 75% the 1ncome from such business

afe faffch wra = 6 AR AR 3wred & @ § o 2, At 39 wmd d I/ RN s = g

(1) UH SASUA A AW FH 40 vl
(2) UH SHaEd B 3 #1025 s
(3) U Sggum™ ¥ A % 60 ufawd
(4) U0 IUE A AW H 75 dfavh

[Question ID = 1447][Question Description = Q37_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5785]
2. 2 [Option ID = 5786]
3. 3 [Option ID = 5787]
4. 4 [Option ID = 5788]

Carrect Answer ;-
& 1 [Option ID = 5785]

38) AMT provisions are applicable on:
(1) Corporate assessee (2) Non Corporate assessee
(3) HUF (4) An Individual
T e f g Fﬂ’lﬁ;ﬁ 2
(1) HruRe w Rl w (2) M HRIRZ T Futfe o
(3) U T W @) o safdq w

[Question ID = 1448][Question Description = Q38_Commerce_25N51_SHAAN_NOV21]
1. 1 [Option ID = 5789]
2. 2 [Option ID = 5790]
3. 3 [Option ID = 5791]
4, 4 [Option ID = 5792]

Correct Answer ;-
e 1 [Option ID = 5789]

33) X, an employee of the private company. gets Rs.30.000 p.m. basic salary and entitled to
Rs.1,500 p.m. as entertainment allowance. What are the deductions u/s 16(1i) from gross
salary in respect of entertainment allowance?

(1)  Re.5,000 (2) Rs.18,000
(3)  Rs.72.000 @ Nil

et St % we @l X 31 30,000 ¥ae wf OR 4@ o frem 2 o WRER W % w9 1 1,500
Tqu 3fd WE 1 FHeN 21 WHIA 99 % Wew § Fe Jo9 | 9 16(3) % Jidia fhal war 2vfie

(1)  5,000%T (2) 18.000 9T
(3)  72,000%9Q @ A

[Question ID = 1449][Question Description = Q39_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5793]
2. 2 [Option ID = 5794]
3. 3 [Option ID = 5795]
4. 4 [Option ID = 5796]

Correct Answer ;-
e 1 [Option ID = 5793]

prepp
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Which of the following provident fund is approved by the provident fund commissioner?
(1) Statutory provident fund (2) Recognised provident fund
(3) Unrecognised provident fund (4) Public provident fund

uigsy Bty s gro Frafafea 3 3 S-d wiass (i 1 s fmn s 22

1)  wifaites Aiasy iy (@) wEm e sfess il
(3)  am=rar urd wfasy fafy (@ % wiasy fafy

[Question ID = 1450][Question Description = Q40_Commerce_25NS51_SHAAN_NOV21]

1. 1 [Option ID = 5797]

2. 2 [Option ID = 5798]
3. 3 [Option ID = 5799]
4, 4 [Option ID = 5800]

Correct Answer ;-
a 1 [Option ID = 5797]

prepp

Your Personal Exams Guide

Which of the following institutions are included in the “World Bank Group™?

(A) Internafional Finance Corporation

(B) International Monetary Fund

(C)  World Trade Organization

(D) Multilateral Investment Guarantee Agency
(E) International Development Association

Choose the correct answer from the options given below :
(1) A, B and C only

(2) A, B and D only

(3) A, B,D and E only

(4) A, D and E only

Pt # S-a gend ‘aed % wqg’ 3 w37

(A)  FAawsd fom frm
(B) SR T B

(C) Tova =m TR

(D) wedieietd g<neiie i il

(E) o fasm w9

e feu o formedi d @ @ 3 w1 waw Hifve
(1) ad A, B3R C

(2) %a9 A, B3R D

(3) %39 A B,DIME

(4) F9a A DIRE

[Question ID = 1451][Question Description = Q41_Commerce_25NS1_SHAAN_NOV21]

1. 1 [Option ID = 5801]
2. 2 [Option ID = 5802]
3. 3 [Option ID = 5803]
4. 4 [Option ID = 5804]

Correct Answer :-
& 1 [Option ID = 5801]

42)

and coniribute to

(A)  Political awareness, social security and inclusion

(B  Public health, education and hteracy

Corporate social responsibility is the continuing commitment by business to behave ethically
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(C)  Maintaining ecological balances and protecting environment Your Personal Exams Guide
(D)  Gender diversity. profiteering and market controlling
(E) Rendering, Sponsoring and donating to social and charitable activities

Choose the correct answer from the options given below :

(1) A, B and D only
(2) B. C and E only
(3) C.D and E only
4 A, Band Conly

HiaRe wmifses Sagiiea =1 aegd 3 Afas soegr 6 it Fafafes d amem w6 i syamm &
dd Yaagan

Q)  Tifees SrERan, AT Tean 3 aeEEE

B A% wn, e s mera

(€ R e H1 91T WA 3T TiETor <l e

©) Tom fafags, gergdl 3R SR e

E)  wmis g g fsmeeny 31, T S 3R 39 fau e[ &

9 feu mu fowedi § @ wd I T Fif
(1) % A B3MWD
(20 %9 B, C3MRE
(8) waw C,D3IRE
(4 wad A,BAR C

[Question ID = 1452][Question Description = Q42_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5805]
2. 2 [Option ID = 5806]
3. 3 [Option ID = 5807]
4, 4 [Option ID = 5808]

Correct Answer ;-
e« 1 [Option ID = 5805]

43)  Pirm characteristics that help managers identify core compentencies include :

(A)  Potential access to wide variety of markets
(B)  Significantly contribute to the perceived customer benefits
(C)  Value accretive and non competitive

(D) Distinetive and dafficult for competitors to imitate

Choose the most appropriate answer from the options given below:

(1) A, B and C only
(2) B, C and D only
(3) A, B and D only

(4 A. Cand D only

gfrssE & fm sifveent @ wEvs go agmst 6 gzer w3, I Fefaiee aftfea 2 -

(&) Tafau yor % @l g% gwrs yga
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(B) TIEsh % Weld gH 16l A1l B Heedqul JAMEH HET Your Personal Exams Guide
(C) yea-AtEds i -yl
D) fafire 3 sfeifed & foe sgem w0 § 55

fri fw T feredi W @ WS 3T IR TR AT
(1) %aAAB3RC
(2) HEAB.C3RD
(3) %ad A, B3R D
(4) HIF A, C3HRD

[Question ID = 1453][Question Description = Q43_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5809]

2. 2 [Option ID = 5810]

3. 3 [Option ID = 5811]

4. 4 [Option ID = 5812]

Correct Answer ;-

e 1 [Option ID = 5809]

Which of the following distinction(s) is/are not correct between public 1ssue and rights issue?
(A) In public 1ssue, applications for shares are invited from the general public and in
rights 1ssue, the shares are offered to existing shareholders.

(B) In public issue there 1s no question of any over-subscription and In rights 1ssue the
shares may be under subscribed or over subscribed leading to prorata allotment.

(C)  The price of public issue 1s generally less than the market price and in rghts issue,
the price is deliberately made less than the market price.

(D) In a public issue. the communication of the issue 1s through prospects or
advertisements and in rights issue the communication is between the company and
the existing members of the company.

Choose the most appropriate answer from the options given below :
(1) B only

(2) D only

(3} A and C only

(4) C and D only

ot frfam s s1ireen figa & €= Paofafea d | =9 @ s ed adi 2)
(A) FEEEs e § s % fo sEe s dnl 8 9 S 2 AR sl TR d 3eR dieg
SIEe] @l YaM fhe w1 2

(B) wEats s 1 srfieg &1 912 gae A8 8 3 siver fofm 4 sert =t ae9 aiftes
sifa srfirgm fopn = wepa R Fomw aenque wferea g2 2)

(©) e e $ Fiug gm=E: SR fEa 8 0 gl 2 3R afer feimm | B w
S SR hid § B9 6 Sl E

(D) At e 1 faie @ wsu e afe = fasnmel < oem | 2 @ 3t sifvesr feim
% gl ) 3R e % e wew) % i da

Hra feu e forredi 1§ | w98 I W H TR FHIGC

(1) haa B
(2) haa D
(3) Had A IR C

(4 FIFCIARD
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[Question ID = 1454][Question Description = Q44_Commerce_25NS1_SHAAN_NOV21] Your Personal Exams Guide

1. 1 [Option ID = 5813]
2. 2 [Option ID = 5814]
3. 3 [Option ID = 5815]
4, 4 [Option ID = 5816]

Correct Answer ;-
a 1 [Option ID = 5813]

According to AS-2, which of the following costs should be included 1n valuing the inventories
of a manufacturing company?

(A) Freight and insurance
(B) Carriage outwards
(C) Depreciation of factory plant

(D)  General administrative overheads

Choose the most appropriate answer from the options given below :

(1) A and D only

(2) A, B and D only

(3) B and C only

(4) A and C only
T TH-2 % AR fAFEm i Al w0 F Ty % Toared § eriEad § 8 B el e
AT ATl

(A) e FR s

(B) TS HIZ
(C) W@ 93 F I
(D) WA IO ST

= fou e fapedl © © wem Sugda I A IO
(1) Faa A 3RD
() Faa A BIRD
(3) FaaBsRC
(4)  Haw A #R C
[Question ID = 1455][Question Description = Q45_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5817
2. 2 [Option ID = 5818
3. 3 [Option ID = 5819]
4. 4 [Option ID = 5820
e
& 1 [Option ID = 5817]

Which of the following rules stands true while preparing schedule of changes in working
capital?

(A)  An increase in current assets increases working capital

(B)  Anincrease in current assets decreases working capital

(C)  An increase in current habilities decreases working capital

(D)  Anincrease in current labilities increases working capital

Choose the most appropriate answer from the options given below :

Fi B A and M Ander
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Y
(B)
©

D)

(1)
(2)
(3
(4)

(A)
(B)
©
D)
(E)

T

2
(3)
D

—_—— - ——

A and D only
B and D only
A, B and C only

Frafatas @ g S-T Fem weeia g § aie e o i F ged 0w et

=iy woaf ¥ afy & weier gt § gfs A 3
o1 TRl § ofy & weee oo o 3

=1 SEanetl § g B A FEEie gui g 2

< Sl 3t A ¥ e g s 2

Hr= foe o ool © O wed Iuged I T BT

Faa A oK C

Faa A 3R D

#ad B 3k D

a4 A. B 3R C

Correct Answer -
e 1 [Option ID = 5821]

[Question ID = 1456][Question Description = Q46_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5821]
2. 2 [Option ID = 5822
3. 3 [Option ID = 5823]
4. 4 [Option ID = 5824

Characteristics constituting the core of consumers rationality includes:

(A)
(B)
(€
(D)
(E)

Homogeneous expectations
Non — satiation

Selfish motive

Clarity of preferences

Possession of information

Choose the correct answer from the options given below :

(1)
)
(3)
(4

A, B and C only
B. C and D only
A, B, Cand D only
B.C,D and E only

sudte 1 ge aifhea % srfireemt o wfra B 2 .

[GEY YA

argfed

L= DEIGRRITE
EHERIIE R
YA W@

Hi= feu mu et 4 @ wdl s w1 =R Hifsw .

prepp
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(2) Fa@ B,C3RD
(3) &9d A.B,C3IHRD
(4) F9d B.C,DINE
[Question ID = 1457][Question Description = Q47_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5825]
2. 2 [Option ID = 5826]
3. 3 [Option ID = 5827]
4. 4 [Option ID = 5828]
Correct Answer :-
s 1 [Option ID = 5825]

48) Why 1s an indifference curve convex to the origin?

(A) Indifference curve slope downward to the right

(B) Two commodities are imprefect substitutes
(C)  Declhining marginal rate of substitution between commodities

(D) Diminishing marginal utilities
Choose the most appropriate answer from the options given below :

(1) A and B only
(2) B and C only
(3) C and D only
4) A and D only

Th FATYAA 9% 91 gt B Seacd <01 2iar 27

(&)  IEfmA 9% g B = i SR g B 31
(B) @1 aqu 7qul Sl ¢

(©) FE3 % 9T hrarR H greEE g g

@  TEE dmid SeEiiEn

= feu v faspegi 0 ¥ Fed I9gE I 1 T4 B

(1) <Hast A3 B
(2) a| B3 C
(3) HIFC3IHRD
(4) FIH AIWD

[Question ID = 1458][Question Description = Q48_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5829]
2. 2 [Option ID = 5830]
3. 3 [Option ID = 5831]
4, 4 [Option ID = 5832]

' Correct Answer ;-
o 1 [Option ID = 5829]

Financial crises takes the forin of

(A) Currency crisis
(B) Banking crisis

(C) Systematic financial crisis
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(D)  Foreign debt crisis Your Personal Exams Guide

Choose the correct answer from the options given below :

(1) A, B, Conly
(2) A. B, Donly
(3) B, C, D only
(4) A. B, C, Donly

ferdfra wepe fafefiag su a2
&) oI HHE

(C) wafeg fasfm 9w
(D) Taesfht = g2

Hr= fou mu fysredi § @ wEN 39gE IR FH1 T Fifowm
() %HaAA.B,C

(2) HEFAA. B, D

(3 %a@B,C,D

4 @S9 A.B, C.D

[Question ID = 1459][Question Description = Q49_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Opticn ID = 5833]

2. 2 [Option ID = 5834]

3. 3 [Option ID = 5835]

4. 4 [Option ID = 5836]

Correct Answer ;-

& 1 [Option ID = 5833]

Following are the problems that mar an optimal international diversification:

(A) Unfavourable exchange rate movements

{B)  Frictions In international markets
(C)  Manipulation of security prices

(D)  Unequal access to information

Choose the most appropriate answer from the options given below :

(1) A, B,Conly
(2) B.C,Donly
(3) A, C.Donly
4) A, B, C, D only

g sianrd fafasdia # ey anefl woend faafafiae €
a) fafmm o b sfags sar-wgm@

(B) IS SR H Ty

(Cy wiagfa @i 7 TR

D) YO TH HAEIH 92
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Hra fou mu el © A wed IugF ST H 9 HIRC
() wadA.B.C

2 %9d B, C.D

(8) HFAA,CD

(49 HIAA B C,D

[Question ID = 1460][Question Description = Q50_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5837]
2. 2 [Option ID = 5838]
3. 3 [Option ID = 5839]
4. 4 [Option ID = 5840]

Carrect Answer ;-
& 1 [Option ID = 5837]

Which of the following statement 1s correct about Mann — Whitney U — test?

(A)  It1is non parametric test
(B) It requires that samples are independent
(C) It can be used when populations involved are normally distributed

(D) It 1s used to test the null hypothesis that the two populations are involved are
identical.

(E) It is always a two tailed test.

Choose the correct answer from the options given below :

(1) A. B, D only
(2) A, C, Donly
(3) A.D.Eonly
(4) A.B. E only

Aq-fegett 7-wdiegor + fawa o Fefataga & @ F5-m 0 93 27

(&) 7 R-yrafas aiem 2|

(B) 7% o st 2 6 fied w3

(C) 19 il SHOEAT qMTEd: [&ard &, @l SO ST 96 3 99 2

(D) 36 WA 36 YA THhSTAT % w9 = fere e s @ T aftifea g1 sveead aue 2

() == zuen fggeaa wiem 3|

4 fou o ferredi ° 9 wem SwEa S 1 wEA Fila
() Fa@ A B.D
(2) HaTAC. D
(3) #a@A.D.E
(4 Fa9 A.B. E
[Question ID = 1461][Question Description = Q5%1_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5841]
2. 2 [Option ID = 5842]
3. 3 [Option ID = 5843]
4, 4 [Option ID = 5844]
Correct Answer :-
| & 1 [Option ID = 5841)



WWW.prepp.in

Which of the following are correct about complementary events?

(4)
(B)
(€)

Mutually exclusive

Independent

Such that their probabilities add up to 1.

(D)  Collective exhaustive.

Ch

(1)
(2
(3)
(4)

oose the most appropriate answer from the options given below :

A. B, Conly
A, B, Donly
B. C. D only
A C Donly

o geAlan & fawa ¥ frafafen 4 9 $R-3 wey 22

(A)
(B)
(©)
(D)

TR SHTAAH

REG

Wt o6 3R wfransii <1 3m 1 2
afa ¥ ¥ QUi 7

= feu e faspegi 4 O Fel I9gE IW FH T894 HINT

)
2
3)
(4

Fa6 A, B, C
%had A, B, D
%44 B, C. D
%9 A, C, D

[Question ID = 1462][Question Description = Q52_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Optien ID = 5845]
2. 2 [Option ID = 5846]
3. 3 [Option ID = 5847]
4. 4 [Option ID = 5848]

Correct Answer ;-
e 1 [Option ID = 5845]

Which of the following statements are correct about Chi — Square test?

(&)

(B)

(©)

()
(E)

The only parameter of a Chi — Square distribution is its number of degrees of
freedom.

The null hypothesis in given Chi — Square test 1s rejected when calculated value of
variable exceed 1its critical value.

The rejection region in a goodness of fit test lies only in the right tail of the
distrbution.
The Chi — Square test 1s a parametric test.

At a=.05 and V =1 the critical value of ¥ is equal to Z — value at the same level of

significance.

Choose the most appropriate answer from the options given below :

1)
@

B, D. E only
A, C, Eonly

Your Personal Exams Guide
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4 B. C. D only
frafafiga O 8 S19-Y F99 Chi e q0299 % SN 3§ WEl 27

(A) T8 (Chi) @& 9000 1 UHAE YA a1 Sl At F oE 2

B) U T &E (Chi) @R 9880 § = IEheqql &l AR 1 (6 91 § 99 < &1 U4 3496
wifas [ 4 ifvs gan 2

(©) T sie-fee whaw § srefimm 2a faam % gfavi-g=s 3 & wa 2
(D)  Chi @R yiiam s yrafes wem g

(E) @=-053R V=1% 0@ W uriedal & J9F @1 W y® & Hifds 9F Z 94 & 591 gal 2

= fou o faoredi 1 9 wad I9ge IR H T HIOT ;
(1) %A B.D,E
(2) FEAA, C.E
(3) &ad A.B, C
(4) %ad B, C.D
[Question ID = 1463][Question Description = Q53_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5849]
2. 2 [Option ID = 5850]
3. 3 [Option ID = 5851]
4, 4 [Option ID = 5852]
Correct Answer:-

» 1 [Option ID = 5849]

The principles of management have the following distinct features:

(A)  Flexibibity
(B)  Universal application
(C)  Principles are relative. not absolute

(D) Based on situation.

Choose the most appropriate answer from the options given below :

(1) A Bonly
(2 B.Conly
3 A, C.Donly
4 ABCD

vaya % fagral =1 Frefefaa wga fseand € -

(A =

(B)  WHEWW FTEEM

© fToga ang 3. g, e T

(D) uitfeafa w snenfa

Hr fou o fasedi 0 & wad e I #1951 Fif .
(1) dd A 3B

(2) had B 3R C
(3) Haei A, C 3D
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[Question ID = 1464][Question Description = Q5%4_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5853]
2. 2 [Option ID = 5854]
3. 3 [Option ID = 5855]
4. 4 [Option ID = 5856]

Correct Answer ;-
a 1 [Option ID = 5853]

Use of interviews as a training needs assessment technique has the following advantages:

(A) Questions can be modified
(B) Easy to analyze

(C) Can explore unanticipated issues that come up

(D) Less time consuming

Choose the most appropriate answer from the options given below :

(1) A, Bonly
(2) B, C only
3 A, Conly
(4) B. C. D only

AT ATEFFRAA = G T o ©9 T WEeHR 5 390 o fHmafiigs 919 2id 2

(A) 9T 9 gur =1 g 2
B) Tagemw FE 9 @

(C) I 3TH AT STAATH 9l =1 S0 50 @l 2l

(D)  =gu %9 gog T ol

Al fou T faeel W W G SR S W hiY
(1) waa A3RB
) Fa@BIRC
(3) wHaw AIRC

(4) %aa B.C 3D

[Question ID = 1465][Question Description = Q55_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5857]
2. 2 [Option ID = 5858]
3. 3 [Option ID = 5859]
4. 4 [Option ID = 5860]

Carrect Answer ;-
& 1 [Option ID = 5857]

The advantages of incentive payments are

(A)  Ease in the introduction of new machines
(B)  Better utilization of equipment
(C) Reduced absenteeism and turnover

(D) Increased scrap

Choose the most appropriate answer from the options given below :
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(1) A Bonly
(2) B.Conly
(3) B.C.Donly
49 A.B,Conly

YIeArE YA o -3 oY B

(A)
(B)

©
(D)

=2 oAl 1 @A 1 e
3901 I FEA ITAM
seafRfa st smafa o %
Fafire | afg

e fou e fersedi 0 & ey I9gE I H T HIRC

(D
(2)
(3)
(4

%ad A, B
%ad B, C
%ad B.C, D
%98 A, B, C

[Question ID = 1466][Question Description = Q56_Commerce_25NS1_SHAAN_NOV21]
1 [Option ID = 5861]
2 [Option ID = 5862]

1.
2;
3. 3 [Option ID = 5863]
4. 4 [Option ID = 5864

Correct Answer :-

e 1 [Option ID = 5861]

Which of the following forms may not result in credit risk?

(A)  Principle and/or interest amount may not be repaid in the case of direct lending.

(B) In case of guarantees or letter of credit, fund may not be forth coming from the

(C)

constituents upon crystallisation of the liability.

Funds/Securities settlement may not be effected, in case of securities trading
business.

(D)  Provide information for determiming adequacy of loan loss provision.

Choose the correct answer from the options given below :

(D
2)
(3)
(4

A, B and C only
A. Cand D only
B and C only

D only

frafafea d & fora w0 | =0 Sifew 9 6 wwren 78 27

(&)
(B)
©
D)

el YW o Ael W JATA 3R/M ™ & OFEH A FRE I gl

TRE o1 WRE-93 % ame ¥ gy % St wogesl | Tl 3 am a@ g
wfaqfa =R sraemE & w4 ffE fafafai @ fuer 3 gan @)

=Y B yEgE i v Fuiia w6 % foae g ggm &)

4= e nu fawei U @ 9 I w1 = S
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(1
@
(3
@

%3 A, B3R C
%o A, C 3D
%ael B 3R C
Faa D

[Question ID = 1467][Question Description = Q57_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5865]
2. 2 [Option ID = 5866]
3. 3 [Option ID = 5867]
4, 4 [Option ID = 5868]

Correct Answer ;-
e 1 [Option ID = 5865]

Which of the following statements are false regarding electronic purse? Indicate the correct

code.

(A)
(B)
)
(D)

Retinal pattern verification
Visual recognition
No nisk of bad payment

Method of accepting payinents with no cash float to manage and no risk of theft.

Choose the correct answer from the options given below :

(L
(2
(3
&)

A, B and C only
B. C and D only
A and B only
C and D only

SERIAE 90 & ged ¥ Fefatas 7 9 F-3 w20 sme 37 98 s = =ika =)

(A)
(B)
(C)

(D)

gfeuesfir stiscaan Heaa

TS YAH =Rl g a1
s e 1 Tey e B otk = =t Sifem % 5 gam =fepa = A Ty

Fra v o fawedl 8 9 wE I 1 99 Hie

(1)
(2)
(3)
4

*ad A, B3R C

Fad B.C s D

Had A R B

Fad C s D

[Question ID = 1468][Question Description = Q58_Commerce_25NS1_SHAAN_NOV21]
1 [Option ID = 5869]
2 [Option ID = 5870

Correct Answer -

1.
3

3. 3 [Option ID = 5871]
4. 4 [Option ID = 5872

e 1 [Option ID = 5869

Which of the following statements are the defects of Indian Money Market?

&)

Profitable Investment

prepp
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(B)  Dichotomy in Indian Money Market Your Personal Exams Guide

(C)  Financing Industry

(D)  Diversity in interest rates

Choose the correct answer from the options given below :

(1) A. B and C only
(2) B and C only
(3) A BandD only
(4) B and D only

frafafaa 3 @ $R-8 w99 T g1 9o 6wt 22
(a)  =mwesrd e
(B) wWeE gE AR 4 fgarem

(C)  IAM i 3w yem s
D) = el o fafy=a

A9 feu e Tasheqi § @ 9El I & 9@ Fifdu
(1) el A, B3iC
(2) wHaa B3R C
(3) %36 A, B3RD
(4 HI= BIWD
[Question ID = 1469][Question Description = Q5%9_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5873]
2. 2 [Option ID = 5874]
3. 3 [Option ID = 5875]
4, 4 [Option ID = 5876]
e Curmct Mswer T

« 1 [Option ID = 5873]

Penetration pricing strategy delivers results:

(A)  Where price quality assoclation 1s weak
(B)  When the product is perceived as a ‘high technology’ product
(C)  When the market 1s characterised by intensive competition

(D)  When the firm uses it as an entry strategy

Choose the most appropriate answer from the options given below :

(1) B, C only
(2) A, D only
(3) A, C.Donly
(4) A, B, Conly

TR g -fai sl iommerRs 2 2
A) @ g F v A HES JaY B R

(B) @ IWE B T A A IS & 9 H G AT B
(C) 4 9 1 e 129 afanifa gl 21
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(D)

g yfassF g9y widifd % w9 4 3961 39 HE 2

i< feu o ol U 2 wed Iugad I w1 99 il

1)
2)
3

@

%dd B, C
%9 A, D
%gd A, C, D
%l A, B, C

[Question ID = 1470][Question Description = Q60_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5877]
2. 2 [Option ID = 5878
3. 3 [Option ID = 5879]

4. 4 [Option ID = 5880

Correct Answer :-

& 1 [Option ID = 5877]

61 : i i o
) Which of the following represents traditional logistics management approach?

(A)
(B)
(©)
(D)

Independent inventory management efforts
Minimise firm costs
Amount of information sharing and monitoring himited to current processes

Small breadth of supplier base to increase coordination

Choose the correct answer from the options given below :

1
2)
(3
(4

A, B only
B. C only
A, C,Donly
B. C, D only

T U SN TORIE 9 TEE Y0 1 W S 87

&)
(B)

(©)
(D)

WA W TEYH YA

yiesa <l APl 1 =T FEI

Fag[ wienad 4 geEen # 9 @ A 9 v s71h e
A o gig & fou Agfdesdian 6 Hifva den

i feu o frepedi H | wedE 399 W H1 wE Hifs

(1)
)
(3
(4)

*a A, B
*ad B, C
%ad A, C, D
%ad B.C, D

[Question ID = 1471][Question Description = Q61_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5881]
2. 2 [Option ID = 5882]
3. 3 [Option ID = 5883]
4. 4 [Option ID = 5884]

Carrect Answer ;-
s 1 [Option ID = 5881]

62)

Which of the following statements are false? Indicate the correct code.

prepp
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(A)
(B)

©)

(D)

No company has to file any prescribed declaration before commencement of business.

A company can ratify the contract entered into by the promoters with third parties on

behalf of the company before its formation.

The date mentioned in the certificate for commencement of business is taken as the
date of birth of a public company.

A private company has to file a “Settlement in lieu of prospectus™ with the registrar.

Choose the correct answer from the options given below :

)
2
(3
€

A, Band D only
A and B only
B. Cand D only
C and D only

Freiferiiga & @ ®F O Y 7Tad 3¢ TET g graa o

(A)  Todl ¥l B Bl rgE wRY B U g wig fafza son giftge 48w =it 21

B) F AW T F [ Tadw gR HET AR W G 9 F WY M WA i HIE FR
2l

(C) =ATIR IRH EH % S99 | Ioainad iy utser® F1 1 59 oty 7o s 2

(D) =l et 0 wieEror £ e wEEtr 9Siee % 98 gias e E 2

W= fou T famhei # © wEl 3w = il

(1) #HaAa A.B¥ERD

(2) Fad ARB

(3) &« B.C¥RD

(4) waa C R D

[Question ID = 1472][Question Description = Q62_Commerce_25NS1_SHAAN_NOV21]
1 [Option ID = 5885]
2 [Option ID = 5886]

1.
3
3. 3 [Option ID = 5887]
4. 4 [Option ID = 5888

Correct Answer -

e 1 [Option ID = 5885]

Which of the following are not the objectives of competition act, 2002?

(A)
(B)
(C)
D)

Ensure freedom of trade for other participants in incidental and connected markets.
Provide a reasonable level of reliability and connect operation.
Adhere to generally accepted security procedures.

Protect the interests of consumers.

Choose the correct answer from the options given below :

(1
(2
3
(4

A C.,Donly
B. C, D only
A, Conly
B, C only

froybBafiaa O © = —zen ufamn =t oo onn9g & x=#sa o 2
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(A) 3 gfawiEl & fu et 9 gEiia SR 3 SR wWadd giaead S
® wfEa fawaeEa yem w9 y=en e

(©) | ¥ 9 wEiga geen ugiedi &1 Ter

D)  3Ivur Tl =1 v

Hr9 feu o foreedi d 3 9 I w1 93 $ife .
(1) =ae A, C3IRD

(2) %9d B, C3RD

(3) 9 A, C

4 &I B, C

[Question ID = 147 3][Question Description = Qé63_Commerce_25N51_SHAAN_NOV21]
1. 1 [Option ID = 5889]
2. 2 [Option ID = 5890]
3. 3 [Option ID = 5891]
4, 4 [Option ID = 5892]

Correct Answer ;-
e 1 [Option ID = 588%]

Which of the following persons cannot use ITR — 4?

(A)  Who is director of a company

(B)  Who has held any unlisted equity shares

(C)  Who has any asset located outside India

(D) A firm (other than LLP) if assessee is a Resident

(E) Who has income from other sources

Choose the most appropriate answer from the options given below :

(1) A, B, Conly
(2) A. B, D only
(3) B. D, E only
(4) C. D. E only

ffafiga @ @ ®9- =afzq 32 d 9r-4 1 w2 T8 = gear 27
(a) N e Fwes 2

® o u srgElieg st e R

() o u 9va & areEt fXm 18 it 21

@ 8w (v va G % afaien) afe sheife fard @)
() o % um 3= ||l 8 311 2

A few e ferpedi W @ W IR A Fife
(1) %99 A, B.C
(2) %I A B.D
(3 #@@B.D,E
(4 o€ C,D,E
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[Question ID = 1474][Question Description = Q64_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5893]
2. 2 [Option ID = 5894)]
3. 3 [Option ID = 5835]
4. 4 [Option ID = 5896]

Carrect Answer ;-
& 1 [Option ID = 5893]

Which of the following losses are not deductible from business income?

(A)
(B)
(€)
(D)
(E)

Loss sustained before the business 1s commenced.

Lossess incurred in the closing down of the business.

Loss incurred due to damage, destruction, ete., of capital assets.

Loss of raw material and finished goods in transit.

Loss of stock — in — trade due to enemy action.

Choose the correct answer from the options given below :

@
2
(3
)

A. B, Conly
B. C, Donly
A D Eonly
A. B, D only

Feafoifaa 8§ F1-d1 21 i Foid! SaaaTa 1 o7 | Tl i S Tdt 2 ¢

(4) TEEE IE A W @ 5 T

(B) U™ &% FH H gF A

(©) s wis, Fam send & wwor 4 afwsafiEt 6wl
(D) TR d %o oo 3T AR agel $ F|

(E) I HE % HAY Sk Hied =l g

Hr fou mu fepeui 0 o W S wE HiN

(1) % A.BC

() #F B.C.D

(3 #I9 A D.E

(4) HaT A B.D

[Question ID = 1475][Question Description = Q65_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5897]
2. 2 [Option ID = 5898]
3. 3 [Option ID = 58399]
4. 4 [Option ID = 5900]

Carrect Answer ;-
& 1 [Option ID = 5897]

Match List T wath List I1 :
List I
(A) Dawvid Ricardo (1817)
(B) Michael Porter (1990)
(C) Adam Smith (1776)
(D) Heckscher (1919) — Ohlin (1933)

List II (International Trade Theories)
(I} Theory of absolute advantage
(I) Factor endowment theory
(III) Theory of comparative advantage

(IV) Theorv of competitive advantage

prepp
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Choose the correct answer from the options given below:

O @O @G -ad. (© - adnh. O - av
2 @-Jan GB-amW ©-O O -
3 @W-av), ® -Jdn, ¢ -a@m, @O - O
@ @-dn B -av. ©-a, O -0

=t 1% g1 = 1T & e i
et I Tt 11 (FraugiEa =R bg)
@& ke et 1817) @ ot ey % faga
(B) TEHA T (1990) an R Yead et
(C) Ugu Ty (1776) ) gomTeds oy = fag[
(D) TR (1919) - FEHA (1933) avy iyl wm % faegid
i feu e famedi & odt I w1 99 Hifvw

L @W-O. G -d. (© -dn O - av)
(2 @G-adn ®-adAv. © -0. @O - dh
3 @-av, @\ -dn ©-d @O -0
@ H-dn B\ -av. © - adp. @O - O

[Question ID = 1476][Question Description = Q66_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5901]
2. 2 [Option ID = 5902]
3. 3 [Option ID = 5903]
4, 4 [Option ID = 5%04]

Correct Answer ;-
e 1 [Option ID = 5901]

Match Last I with List IT :
List I (Method) List II (Purchase consideration)

(A) Lump-sum payment (I) Calculated by adding up the total amount (money

method value) of existing shares, preference shares and cash
received from the purchasing company for the
shareholders of the vendor company.

(B) Net Assets Method (IT) On the basis of ratio in which the shares of the
transferee company are to be exchanged for the
shares of the transferor company.

(C) Net Payment Method (III) The amount to be paid by the transferee company to
transferor company for amalgamation of 1ts business,

(D) Swap Ratio Method (IV) Arnved at by adding the agreed value of assets taken
over and deducting there from the agreed values of
Liabilities.

Choose the correct answer from the options given below:

1 @G-3n @ -Jada, «© - O, @O — dV)

(2) Q@ -dD., B) - aAV), © - O. @Oy - 1D

3 @W-av), & -0O. © -dbh @O - dIh

4 @W-av), & -Jdn © -3adan @O -O
Tt 13wy g=ht 11 = faem i

= 1 e = 1T (= oo
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&) TEwE e faf (M) WiSE 3R e YRR 3R faskal ol & SRR 9WE) &
fore s Sl § W ke 1 pa TR e aiteskaa

® Faw waafty By (I) 39 39U & 3naR W foud gaied o & 3
A A areft wuA & 3 A fafm fen e 2)

(©) oo yrar fafy (ITT) wedrafefl el gra orad sgagra it goiferd @ & fon
BRI S Frell HUA I spram H o i

D) eaA-age e ffa avy otz weifEl % wRma gem w1 Sigwt ol JEH R
A & FEHAEA H TR I

Hi= feu e fapedi @ W I w1 99q Fifaw

1L @-dn ®&»-ada ©-O O -dv

2 @-3dn ®-aw, © -0, O - dn

B @A@A-@). B -0 (©-3d, O - dm

) A -dav), B —dDn, © - adn, @O — @D

[Question ID = 1477][Question Description = Q67 _Commerce_25N51_SHAAN_NOV21]
1. 1 [Option ID = 5905]
2. 2 [Option ID = 5906]
3. 3 [Optien ID = 5907]
4, 4 [Option ID = 5%08]

Correct Answer ;-
e« 1 [Option ID = 5905]

68)
Match List I with Tast I1 :
List I (Pricing Strategies) List IT (Description)

(A) Ramsay pricing (I) Setting a high price when a product is first
introduced and gradually lowering price as it gains
scale

(B) Price skimming (IT) Firm charges lower price (than the ongoing price)
to gain market entry

(C) Cost plus pricing (IIT) Price deviations from marginal cost should be
inversely proportional to price elasticity of the
product

(D) Penetration pricing (IV) It is full cost pricing strategy that also includes

mark up for target return. degree of competition,
price elasticity and availability of substitutes.

Choose the correct answer from the options given below:

1 @-dn @\ -4advm, © -0, @O - dj
@ @W-@m ®&-O (©-d) @O - adv
3 @W-adn ®& -d. © - av., @O - dh
@ @W-O ®&-4adavm © -a, @ - dDp

gt 1% @iy = 10 =1 faem fife
= I (g Tafor seHif) = IO (ferawon)
(A) T gea Tagmm (D Tl 3ag & SR T g 6 w0 39 HEE @
3R =1 U 3ahl UHE 9gd F 91g hind § i wul
(B) YRH ThfM (47 gew Fefm @D w4 R 4 g 596 % o w0 fra (s fma H
gfel) gorn #) Fuffa % 2
(C) @[ Im Yo Feim II) dmE arEa | Yed 9eer @R & Fua @" FH
SIERHIIT g1 =g
(D) ISR g3 g faamm @V) =g i ara o gt wiifs 3 fred afder afaws
% fatsa $, y@fm w1 @, g9 a9 3R
gfeeenferl =i Iaetedar Wik 2 B

A= feu o foereat § Wt 39 w1 wEa Hifdg
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) W UL, (D)UY (W) — W, W) — o)
@ @W}W-am. ®»-O (© -dan. O - dav
@ @-dan B -O. ©-av. O - d
4 @W@-O. @®-av). © - dn @O — di)

[Question ID = 1478][Question Description = Q68_Commerce_25N51_SHAAN_NOV21]

1. 1 [Option ID = 5909]
2. 2 [Option ID = 5910]
3. 3 [Option ID = 5911]
4, 4 [Option ID = 5912]

Correct Answer ;-
e 1 [Option ID = 5%09]

prepp
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69)
Match List I with List I :
List I List IT

(A) Market rnsk () Associated with the efficiency with which a firm
conducts 1ts operations within the broader
environment imposed upon it.

(B) Financal risk (I Arises due to change 1n operating conditions caused
by conditions thrust upon the firm which are beyond
its control.

(C) External businessrisk  (III) Variations in price sparked off due to real, social,
political and economic events.

(D) Internal business risk (IV) Associated with the capital structure of a firm.

Choose the correct answer from the options given below:
(1) @W-O, ® -dad), (© - dai, O - dV)
(2 A-D, B -av. © -4an, @O - @
3 A)-dm), B -@O. (© —-{an. @O — dav)
49 @AG-0v). B -—-d), ©-@O. (O - dD
ot [ & Wy =t 1T o e $ifsu .
gl 1 4 1T
(A) SR SifEg (D 39 sRyEd 4 g gy o8 afasem 39 w s
JER e % FS I HEl H H=AEH BT 2
®) fadm Sifiam AD vfossm m 3a% FEger @ o uiferfaa smafta 89 @
rd offeafed § ufada % aad 3 2
(C) e s9g|rg ey A0 arfasn, amifses, gadfifys st anfis genst a Hiog
1 I FH a1l giEd
(D) G I Afad AV) a3 % YA &= | deiod
H1= feu U frpedi @ UEl I 1 wEH HIT
(1) A-O, @& —-dnp. © - din, O - dv
2) A-1ID,. B -aV), © -dadb. O - @
(3) @-3an ®-O © -4adj @O - av
(4) @A-aw, @& -Jdan, € -@O. @O - {dp

[Question ID = 1479][Question Description = Q69_Commerce_25N51_SHAAN_NOV21]

1. 1 [Option ID = 5913]
2. 2 [Option ID = 5914]
3. 3 [Option ID = 5915]
4, 4 [Option ID = 5916]

Correct Answer ;-
e 1 [Option ID = 5913]
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Logically sequence the following in the process of entering international markets outhned in
the uppsala model.

(A) Sporadic (Ad hoc) exports

(B) Foreign production and manufacturing
(C)  Establishing a foreign sales subsidiary
(D) Domestic operations and production

(E)  Exporting via independent representative

Choose the correct answer from the options given below:

(1) (A B), (C). (D) and (E)
2 (O, (B). (D). (A) and (E)
3 D). @A), E).(C)and B)
4) (E).®), D).(C) and &)
IULTA] Hise H 3feetiad e SR § Y69 4 il qiea 3 FAeifaa # aand w9 1 @
&) e (usErs) Fafa
B Tl searem a ffwm
() ol fooma w78 wonfug e
(D) =R T=e 9 ST

(E) wada wiakite % arem o faia #=n

I fou e e § O o s W == it

(1) (A, B). (C). (D) 3% (E)
@  (O).(B). D). @A) W (E)
@ (D). W) (B). (C) ¥ (B)
@ (E). B). D). (C) &R (A)

[Question ID = 1480][Question Description = Q70_Commerce_25N51_SHAAN_NOV21]
1. 1 [Option ID = 5917]

2. 2 [Option ID = 5918]

3. 3 [Option ID = 5919]

4. 4 [Option ID = 5920]

Correct Answer :-

e 1 [Option ID = 5917]

i Match List I with Tast IT :
List I (Personlity dimensions) List IT (Individual Traits)
(A) Extroversion (D Calm, happy and secure
(B) Conscientiousness (IT) Talkative, assertive, sociable and outgoing
(C) Emotional stability (III) Creative. curlous, intellectual. imaginative and
artistically sensitive
(D) Openess to experience (IV) Self-disciplined. hardworking, organised,

dependable and persistent.

Choose the correct answer from the options given below:
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(1) A-AdD, B —av). © - dm. O — @O Your Personal Exams Guide

2 @-a. & -amn. O -O O - JdD
3 @-dn @ -ad, © -0, @O - dv)
@ @W-av., -0 (© -ad. @O — JD

=t 1% @ g 11 %1 T hifore
=i 1 () = 11 (Safeas o)
Q) =fedemm @  wid, vE= HA g
(B) HaASAT D) srgdt, sE, fremar s i
(C) wradras fera @I wAresE, farg, Stigs, seemfa sk semras w9
| Haesfid
(D) I AV) Ag-Aened, wier, wmfed, FuR 9 3 waa
= fou o fashedi @l 3R w1 IR iR

1 @-d@ B-aV. ©O-d) O -0

@ @W-@m ®®»-av, ©-O0O. O - J
3 @W@W-AdDh ®-dh. © -O. @O - OV
@ @W-av), B -0 ©-add, O - Jdm

[Question ID = 1481][Question Description = Q71_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5921]
2. 2 [Option ID = 5922]
3. 3 [Option ID = 5923]
4, 4 [Option ID = 5924]

Correct Answer ;-
a 1 [Option ID = 5921]

Match List I with List IT :
List I Last I
(A) Insurance Act M 1988
(B) Life Insurance Corporation Act (I 1963
(C) Motor Vehicles Act (III) 1938
(D) Marine Insurance Act (IV) 1956

Choose the correct answer from the options given below:

1 @-am». B -Jadn O -0 O -d
@ @W-0O. G -Jd © -dn O -av
3 @A-dn ®-av). ©-O. @O - 3d
@ @W-av). G -dadn ©O-ad O -0

o= 1% o g 10 % firem ifo .

A 1 11
&) im sriafEm @M 1988
B) St i fm st (I) 1963

(C) =T e sitafag (1D 1938

~ - LT Y
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fr= feu mu fomredi @ W 3 =1 === Hife .

1 @w-av. & -dn © -O. O - d)
2 @W-0 6 -ad. © -dnp O - adv
@ @»-dn G -a), © -O, @O - 1D
@ @W-av., & -d © -d). @O - @

[Question ID = 1482][Question Description = Q72_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5925]
2. 2 [Option ID = 5926]
3. 3 [Option ID = 5927]
4. 4 [Option ID = 5928
Correct Answer ;-

e 1 [Option ID = 5925]

Match List I with List IT:
ListI List II
Books Author(s)
(A) Wealth of Nations, 1776 () Thomas Malthus

(B) Principles of Political Economy and (II) Karl Marx
Taxation, 1817

(C) Principle of Population, 1798 (ITID)  Adam Smith
(D) Das Capital, 1867 (IV) David Ricardoe

Choose the correct answer from the options given below:

O @-O0O. G -dn © - av). O - d
@ @@-dh. B -av. ©-0O. O - d
@ @W-@m ®-an ©-o O-aw
@ @-dn @ -@O. ©-av. O - d

Tt 1% oy g 11 6 e st
A I Sxipi
(Feh) (FEr)
(A) Tou % 43, 1776 (D e 7N
(B) fiftuen w1 difaesa swad 05 29d9A, (0 e a8
1817
(C) Tuftuer =17 wigeizF, 1798 Iy uwsn faw
(D) =™ Hfied, 1867 @V) sfrs st

I v T e © T8 3T 1 e Fiew

1 @-O @® -dJdn © -a), @O - JD)
2 @W-ap ®B;-av, O -0 O -d
3 @-d. G -dn © -0 O - av
@ @W-dn ®; -0 ©-av, O - dh

| [Question ID = 1483][Question Description = Q73_Commerce_25N51_SHAAN_NOV21]
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. 1 [Option ID = 5929] l l

2 [Option ID = 5930] Your Personal Exams Guide

3 [Option ID = 5931]
. 4 [Option ID = 5932]

N S PO L ey

Correct Answer :-
e 1 [Option ID = 5929]

74)
Match List I with List IT :
List I List IT
(A) Ordinary damages (I} Never granted by way of compensation
for the loss
(B) Special damages (I) They are quite heavy in amount and
are awarded by way of punishment
only
(C) Exemplary damages (III) Arise in the ordinary course of events
from the breach of contract
(D) Nominal damages (IV) The constitute indirect loss suffered by
the aggrieved party on account of
breach of contract.
Choose the correct answer from the options given below:
1) A-d0n, B -dav). © -an, @O - @O
(2 Ay -({IV). (B - D), (C) - D, @O - D
3 A -—-@. @B —d). (© — av). @Oy — d)
€Y A-d. @®@ - @O. (© - an, @O - dv)
=t 1% ey g I %1 frem difaw
T I gl I
(A)  wmrE afo @ = % fau sfagfds & w9 4 4 yea =& H e 3
(B) Taum afeen (ID & 90 1 stafas uft S € 3 Fad <3 & =9 1 & ot 2
(C) ey arfer (I dfae ¥ g 6 3R 3 aea 9o w9 9 30 303
(D) Fifies afe IV) @faer 9n 2F & %ru difea va w1 g9 ardl sved gk
dr9 feu 7o frereat 9 9 3w W 9 il

(D A -D., B) - av), & - an. @O - @
2 A-av). B -dn, € -dh. @O - D
@ @-@. ®-—d) (© - av. @) - {dIn
4 @-dam ®;-O. ©-un O -av

[Question ID = 1484][Question Description = Q74_Commerce_25N51_SHAAN_NOV21]

1. 1 [Option ID = 5933]

2. 2 [Option ID = 5934]

3. 3 [Option ID = 5935]

4. 4 [Option ID = 5936]

c.;.rrecmnswer o
e 1 [Option ID = 5933]

Match List I with List I :

List I List IT

(A) Section 35 (2AA) (I Payment made to certain institutions for scientific
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(B) Section 35(1) (11 a)

(C) Section 35(1) (u1)

(D) Section 35(1) (i)

research.

(II) Payment made to certain institutions for research
1n social sciences.

(III) Payment made to a company to be used for
scientific research.

(IV) Payment made to Indian Institute of Technology
for Scientific Research.

Choose the correct answer from the options given below:

DL @@ B -adp. (© - dn, O - @D
@ @-Mm™M ®-dn ©O-am O -0
e @W-0 ®-d ©-dp O -dav
@ @-0. ®-a ©-aa. O -J
goft 1% = g=h 11 = fram hifir
g1 = o
(A) o 35 (2 AA) (M <whes wiy & fore 5 weum # Fm w Jrem
B 9w 35(1)Gia) (D) [T @@ A iy % U s T =E S e yEE

(C) oM 35 (1) (i) @D Asnfes Wy & fau wim fee 9@ & e S =1 frn w= sem

(D) 9 35 (1) (i) (V) el sig = fore wrdla diifes gxemm &t fear T Jam
= feu e famedt ¥ 9l 39 &1 99 hifw

1 @wW-av. ® - dh. © — dn, O - O

2 @W-av. B -Jdadn © -am. @O -0

@ @W-O @®-d (©-an @O -av

@ @W-O ®&-3d, (© -av. @O - dm

[Question ID = 1485][Question Description = Q75_Commerce_25NS1_SHAAN_NOV21]

1. 1 [Option ID = 5937]
2. 2 [Option ID = 5938]
3. 3 [Option ID = 5939]

4. 4 [Option ID = 5940]

Correct Answer ;-
e 1 [Option ID = 5937]

prepp

Your Personal Exams Guide

76)  Sequence the following in increasing order of integration of member economies.
(A) Free Trade Area
(B) Economic Union
(C) Custom Union
(D) Preferential Trade Agreements
(E) Common Market

Choose the correct answer from the options given below:

1 @A) ©O. E). B). D)
2y B (. (C), Q). D)
3 (D) A, (). E). DB
4) (©). E), B), (D), (A)
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e feranadi % vhEw H gfe § frafafiga @1 s w0 1§ safem =

(A) HFE SR ¥4
(B) it wa
(C)  Hmyess §d

(D)  arir saar |yl

(E)y WA 9 NR

i<l feu 7o famedi § § wd IW &1 = e

1 @A) ©O).E),®.D
2 B, E). ). A, D
B M. @A), ©C), (E).DB
4 (0. (E), B). D). A
[Question ID = 1486][Question Description = Q76_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5941]
2. 2 [Option ID = 5942)
3. 3 [Option ID = 5943]
4. 4 [Option ID = 5944]

Carrect Answer ;-
& 1 [Option ID = 5941]

The liquidator after realizing the assets of the company should distribute the proceeds
among below mentioned claimants in the following order:

(A) Legal charges

(B) Ligquidators remuneration and cost of expenses of winding up
(C)  Workman's dues and claims of the secured creditors

(D)  Preferential creditors and creditors secured by floating charge

(E) Unsecured creditors

Choose the correct answer from the options given below:

L B).O.A . D). E
2 (D). (0, (B). A). (E)
(3) @), B, (©), D). (E)
4) ®B). ). (E), A. D
Freams =t Fh i vimeie f el F an e ® AUy Seerl | B s 0 Eaia we
UL
@& Tl e ()
(B) T & wifeafus sii oftgara A = aftem £ s
(C) IR % o0 3 GUHT TER + o
(D) oriameh SFeR S sl wuR g g o
(E)  ovgwier oraR

A Tou v faemegt 1 9 @El IOy = = e

b B (©). (A). (D). (E)
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Z ), (U), (B}, (&), LE i
(Z) (), (U). (B). (&), (1) Your Personal Exams Guide

3 A (B).©C). D) E)

@  (B).CE).A. D)
[Question ID = 1487][Question Description = Q77_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5945]
2. 2 [Option ID = 5946]
3. 3 [Option ID = 5947]
4. 4 [Option ID = 5948]

Carrect Answer ;-
s 1 [Option ID = 5945]

Arrange the following market structures in the increasing order of pricing power to firms.
(A) Monopohstic competition

(B)  Perfect competition

(C) Duopoly

(D) Monopoly

(E)  Olgopoly
Choose the correct answer from the options given below:

@1 B, D) @A), E. O
@  B). . E), C).D)
3 @ ©O.®.O0.5
@ D). ©O.E. Y. OB

Frefafiea smam aweme =i wal h goy Rutor 9fda $ Jed w9 1 ovafiua #F .
(&)  uHIfmRard gieifa

®) ol e
(C) gl

(D) HIREHR
(E) reqiysn

A9 fen o foeredi § @ 9 I w1 waq dHifsw .

1) B, D). A). E), ()
2 @B @ E), . D)
3 @A ©C.3B). D). E
@ D ©O.E. A, B

[Question ID = 1488][Question Description = Q78_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5549]
2. 2 [Option ID = 5950]
3. 3 [Option ID = 5951]
4. 4 [Option ID = 5952]

Correct Answer :-
& 1 [Option ID = 5949]

79
} Arrange the following items, i.e. stages of capital budgeting in correct sequence:

(A)  Identification of potential investment opportunities

By Azzemhline of nronosed investmentsa
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T
@
(B)
©
(D)

(E)
=l

)
2)
(3)
(4

(C)  Decision making
(D) Implementation and performance review

(E)  Preparation of capital budget and appropriations.

Choose the correct answer from the options given below:

1 @B. @A), E), ©). D)
@  E)LQ©). @A) B O
3 (O (E) D). B). A
@ A3, ©O)E.D

e & Frorfafaa =on =1 waeg =t .

urey Fa srawdl # vg=TH
weaifaa e = darem
ELRE]
FrtrEa 3R fwarea 6 adien
Sl g9e SR FARRR 6 aar

feu U feemedi 1 W wE I %1 = Hifl

(B). (A), (E). (C). D)
(E), (0), (A), B), D)
(C). (E). (D). (B). (A)
(A). (B). (O). (BE). (D)

[Question ID = 1489][Question Description = Q79_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5953]
2. 2 [Option ID = 5954
3. 3 [Option ID = 5955]
4. 4 [Option ID = 5956]

Carrect Answer ;-
& 1 [Option ID = 5953]

Arrange the following stages of processing of data in a correct sequence:
(4)  Coding

(B) Editing

(C)  Tabulation

(D)  Classification

(E)  Using Percentages

Choose the correct answer from the options given below:

1 A, B, ), D), [E)
2 D). (A). B) O, (E)
(3)  (C). (D). (A, (B). (E)
@ B &), D). ), E)

Alwel & v § Fatafes son = od o 1 safer ++°t .

prepp
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(A4)
(B)
(©)

(D)
(E)

glaerdi =1 FEAT

= feu e faesedi O 9 wdl I %1 =99 Hifd .

D
2
3
@

4. 4 [Option ID = 5960

Correct Answer :-

A4). B), (O), D), (E)
D). (A), (B). (O), (E)
(). (D). (A). (B). (E)

(B). A, D). (C). (E)

[Question ID = 1490][Question Description = Q80_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5957]
2. 2 [Optien ID = 5958
3. 3 [Optien ID = 5959]

e 1 [Option ID = 5957

Arrange the following characteristics of stages of group development in the increasing order:

(A)

(B)
(C)
(D)
(E)

Members begin to resolve differences and clarify the purpose of the group and the
roles of group members.

It includes recognition for participation and achievement.
Members are highly task — orented and there is unity in the group.
Conflicts start arising due to the differences of opinion among members.

Members are moderately eager, have positive expectations, anxious about why they
are there, and who other members are

Choose the correct answer from the options given below:

(1)
2)
(3
(4)

(E). (D). (&), (B). (C)
D), (E). (C), &), (B)
(E). (D). (A, (O), (B)
@). (B). (), (E). (O

Tz e =1 el o f=riesa srfircemil =6 =gd s 1 srafen =

(&)

(B)
(©)
D)
(E)

T HadE YOS 6 B 3 3 TR h 3I5evd SN U F G I s B e d
2l

el it afi swarfey 61 araman wfas gt 2)

HeEd 3T ARa-3eh B 8 o wgg O uwd gt 2)

Al & o9 wade & FHU THUE IE 7 S Bl

weed 1 s e ofR wearss oian g1 3 ot 3 o1 W % 98 3R % HRv 3R g
el % TR 0 I P 3EH B B

Hr9 fee v fomredi § @ wd I % wEm Hifsw

(1
(N

(E), (D), A), B), (C)
M (FY (Y (AY. (R)

prepp

Your Personal Exams Guide
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(3) E). D), Q). (C), (B) Your Personal Exams Guide
4 D). (B), (A). (E), (C)

[Question ID = 1491][Question Description = Q81_Commerce_25NS1_SHAAN_NOV21]

1. 1 [Option ID = 5961]

2. 2 [Option ID = 5962]

3. 3 [Option ID = 5363]
4. 4 [Option ID = 5964]

Correct Answer :-
& 1 [Option ID = 5961]

Arrange the following steps in logical sequence of operation of the registration of portfolio
managers:

(A)  Prior approval of the SEBIL
(B) Adequate steps for redressal of investors grievances.

(C)  Maintenance of the specified capital adequacy requirements.

(D) Payment of fee.

(E)  Abide by the regulations under the SEBI Act.

Choose the correct answer from the options given below:

M ©), E). A). B). D)
@) D), A, B). E), ©)
B @, D). ®B). (O E)
@ D). (E).A). (). B

TSR Ya=h] & Uoiihl &1 hREE] 8 gaft Frafafaa = =) aifde o8 4 oafem Hifsm
&) & g gd gEiea

(B) FEvwe 6 BerEl & farm & oo 3fea wen

© fafrfde gofi-gatcar < sravzera ) w9 @

(D)  IeF B YIIH
(B) & siafru & e 50 oem s

i feu o faepedi O 8 W 39 1 93A Fifve .

1y  (©.E.A, ®.D)
2 D). A, B, E). O
3 @A), D), B, 0. B
4 @M. E. @A), ©. B

[Question ID = 1492][Question Description = Q82_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Opticn ID = 5965]
2. 2 [Option ID = 5966
3. 3 [Option ID = 5967]
4. 4 [Option ID = 5968
Correct Answer ;-

& 1 [Option ID = 5965]

83) Arrange the following stages of consumer decision making process In a sequential order
with regard to a young person Divya :

(A) looks for a specific colour and showroom delivery as she does not want to waat.
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(B) narrows down to a dark grey car of a specific brand.

(C) belongs to an executive group and all her colleagues have their own vehicles.

(D) uses media and other social channels to collect information about different models.

(E) feels that fuel efficiency should be the most critical factor while making a choice.

Choose the correct answer from the options given below:

1) A).©).3B) D). E
@  ©, ([E), D). &), B)
@) (O &), D). (E). B)
@ (B @A) D). 6B

T T SN e % vm-ulE F TR F 900 F e W

(&) % fmm T vF Wi ¥ g =iedl 3 TR a8 Tiaen Tal #R awkdi|

(B) Tt gE U1 Al R uh R §is g 2

(C) =TT THE § oIl 2 oI 5ok wei weAi el w1 W 2

D) Hifen wE s g St 1 I9E w0 i wieet 3§ et el a2
(E) < i = weug 41 6 a1el & e A S -0ar 998 Sgeaqyl ik AT =R

it fou e ferpegt A o wE 3T W = Fifow

1y A0, B, D), (E)

(2) (C), (E). (D). (A). (B)

3@  (©). A D). E. B

@  (E) (), @A) D) (B)

[Question ID = 1493][Question Description = Q83_Commerce_25NS$1_SHAAN_NOV21]
1. 1 [Option ID = 5969]
2. 2 [Option ID = 5970]
3. 3 [Option ID = 5971]
4. 4 [Option ID = 5972]

Correct Answer ;-
e 1 [Option ID = 596%]

84)

Arrange the following stages of formation of companies In a proper sequence :
(A)  Promotion stage

(B) Raising of share capital stage

(©) Incorporation stage

(D) Commencement stage

(E) Selection of name

Choose the correct answer from the options given below:

@) (O, &), E), D). B
@ ®).E. A, ©C).D)
3 @), E.©).®). D)
@ D). Q). ®:. O E)

9t 1 w70 9H % Frefafaa s =5 s =i

prepp
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(A)
(B)
<
(D)

(E)

g =
3 §5ft & Frfge &1 s
o =
SRf

RIGECARCDE

1= feu mu fermedl O @ ) 9 % =9A Fifau

(1
(2)
(3)
(4)

(©). (4). (B). D). (B)
(B). (E), (4), (C), (D)
(A). (E), (O). (B). (D)
(D). (A, (B). (C). (E)

[Question ID = 1494][Question Description = Q84_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5973]
2. 2 [Option ID = 5974]
3. 3 [Option ID = 5975]

4. 4 [Option ID = 5976]

Carrect Answer ;-
& 1 [Option ID = 5973]

Sequence the steps for computing gross annual value of income from house property:

(A)

(B)
(C)
(D)
(E)

Find out the rent actually received or receivable after excluding unrealised rent
before deducting loss due to vacaney.

Find out the loss because of vacancy.
Find out the reasonable expected rent of the property.
Find out which one is the higher amount computed in (C) or (A).

(D) — (B) 1s gross annual value

Choose the correct answer from the options given below:

(D
2)
(3
4

(©). (A). (D). (B). (E)
A). M), (C), (B). (E)
D). ), (). (B). (B)
(A), (B). (C), (D). (E)

TE T U I F Uhet AN qod i WA ® =0T HI wneg Hi

(4) avE A TG 5 TR W 5 el B % RO SO B H 9EH % 99 U9 ST T
T % 9 Wik ang 0 i wa S

(B) WM Wl Ta % RV g8 21F 1 a1 T

(C) U=l % wgiaa YAt R 1 gal eFTeT 21

D) (O 3R (A) = B off orfers afdr i o 1 78 2, = gan @

(E) (D) - (B) 5%l ate goa 21

Fr fow o famew @ W T w1 T iR

(1) (C). (A). (D). (B). (E)

(2)

(&), (D). (C). (B). (E)

prepp

Your Personal Exams Guide
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L) W i) (v, (D) L)

4) (@A), B (©). D). (E)

[Question ID = 1495][Question Description = Q85_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5977]
2. 2 [Option ID = 5978]
3. 3 [Option ID = 5979]
4. 4 [Option ID = 5980]

Carrect Answer ;-
& 1 [Option ID = 5977]

Given below are two statements:

Statement I : Deferred Tax Liabilities (Net) 1s the amount of tax on the temporary difference

between the accounting income and taxable income. It arises when the
accounting income is more than the taxable income.

Statement II : Deferred Tax Liabilities (Net) and Deferred Tax Assets (Net) are only book
entires 1.e. they are neither actual hability nor actual asset.

In the hight of the above statements. choose the correct answer from the options given
below:

(1) Both Statement I and Statement II are true,
(2) Both Statement I and Statement I are false.
(3) Statement I 1s true but Statement I is false

(4) Statement I 1s false but Statement IT is true
fr= €1 e faw e E

FEAL ;.  ATURRE I A (FEd) @ 3 3R FEg @ & o9 Al s 9w uty ) S99
o 3 HEAT 3 U At il 2, T8 399 il 8

wYAIT:  arfig o daan (Fee) 3 sreafia o anfal (e gade sfafRei e @ sl 3
J 91 9rafdes <gdr a8 3 A 91 armfas wmh)

39U SR & anelis 4, 919 fou o faweni 4 | e Sues 3w % wEe i)

(1) &A1 31 II eF = 2
(2)  FE I 3R I gHT e gl
(3 w194 2, 9 S O em 2

(4) HU3 I 7o 7, dfeT wem I wd 2

[Question ID = 1496][Question Description = Q86_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5981]

2. 2 [Option ID = 5$82]

3. 3 [Option ID = 5983]

4. 4 [Option ID = 5984]

Correct Answer ;-

& 1 [Option ID = 5981]

&) Gaven below are two statements:

Statement I : Modified Internal rate of return is based on reinvestment assumption.
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Statement IT : Value — additivaity principle is not applicable in NPV.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement II is correct.
= & weA few 1w #)

HT :  wElia Jiaies ghase H g @i srEaron g e 2 2)
FFII: Hou waiga faga e f & w o 78 g 2

9T FYA F IS A, H9 fou e fawedi U 9 g 39gw I A A Hife)

ey
)
(3
4

%A 1 31t 11 <M1 9l 8
FoA I 3 1T 2 TTed 2|
FuA 19l 2, wifsa e 11 7Ie 2
FUA 1 Terd 2, S a1 o 3

[Question ID = 1497][Question Description = Q87_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5985]
2. 2 [Option ID = 5986]
3. 3 [Option ID = 5987]
4, 4 [Option ID = 5988]

Correct Answer ;-
a 1 [Option ID = 5985]

Given below are two statements:

Statement I : Delegation is an interpersonal transactions based on behaviour analysis.

Statement IT : Delegation is an evolutionary and developmental process which needs

In the hight of the above statements, choose the most appropriate answer from the options

encouragement and reinforcement.

given below:

@
@)
(3
©)

Both Statement I and Statement IT are correct.
Both Statement I and Statement II are incorrect.
Statement I is correct but Statement II is incorrect.

Statement I 1s incorrect but Statement II is correct

49 @ e feu o )

prepp
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$HYHT -

HY IT ;

wrerdor sgeRn faveran wosnenfa sradafes doguagn )
T Ueh shafyemErTe 3 fammres i 21 Fred deare it Heeam o sravaea 2|

I9Th FYF b I 1, Fia fou e fowedi d 9 wR Suyw S @ waw Hifwg

(1)
2
3
4)

e[ I 3 II 31 Wel 21
wYq 1 3R 1T @1 e 21

HuA [ 99 2, Sk &ud I To1d 3l

T 1 7e0d 2, Sf e I 898 31

[Question ID = 1498][Question Description = Q88_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Optien ID = 5989]
2. 2 [Optien ID = 5990]
3. 3 [Option ID = 5991]
4. 4 [Option ID = 5992]

Correct Answer ;-
e 1 [Option ID = 5989]

Given below are two statements:

Statement I: Only low priced products will sell in rural india.

Statement I1 : Rural consumers are a homogenous lot.

In the Iight of the above statements, choose the most appropriate answer from the options

given below:

ey
)
(3)
(4)

Both Statement I and Statement II are correct.
Both Statement I and Statement II are incorrect.

Statement I 1s correct but Statement IT is incorrect.

Statement I 15 incorrect but Statement II is correct.

1= Q1 %A fu e A

HAT

Haet (-ea & Iearg Tt s | faest)

e I1;  wvdtor 3usfiad U qarfi-=gg 2k 8

I HYE & e 1, A9 e e fawedl o @ wew Sugw I 9 S

(L
@
3
€Y

&Y I 3R 11 SAT Wl 81
FeA 1 31 11 ©F1 7o 21
&ud 198l 2, o &ue II T 2l

FeF 1 TAd 2, Afpd %9 I 88 81

[Question ID = 1499][Question Description = Q89_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Optien ID = 5993]
2. 2 [Optien ID = 5994]
3. 3 [Optien ID = 5995]
4. 4 [Option ID = 5996]
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Correct Answer ;-
e 1 [Option ID = 5993]

Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as

Reason R.

Assertion A: ITR — 1 can be used by an individual whose total income does not exceed Rs. 1

Crore.

Reason R: ITR — 1 cannot be used by an individual who is director in a company.

In the light of the above statements, choose the most appropriate answer from the options

given
below:

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R i1s NOT the correct explanation of A
(3) A 1s correct but R is not correct

(4) A 1s not correct but R 1s correct

A < e fag o F) v e (Assertion A) % &9 ¥ faftaa 2 A1 gHT 39 B (Reason R) %
Eﬁ'ﬁ:

AT A : 313 A R 1 = STAT W =40k gR1 5 = dehal 2 FTEeh! Fe1 o7/ 1 708 T9¢

AT 2

R R ; 318 9 W 1 =1 ST UH SHTh GRI T8l (AT S Ul & STl U U] H Heme B

ST A % Aes °, Al G U et 8§ e S9Iw W wE hiteg)

(1)
(2)
(3)
(4)

A 3R R o wdl 2 3 R. A 1 wdl = 2

A 3R R oA & 2 @R R, A 91 @@ = 76 2
A T & 9 R w2 76 &)

A wé 7 2 9 R w1 2

[Question ID = 1500][Question Description = Q%0_Commerce_25NS1_SHAAN_NOV21]
1 [Option ID = 5997]
2. 2 [Optien ID = 5998]
3. 3 [Option ID = 5999]
4. 4 [Option ID = 6000]

1.

Correct Answer ;-
e 1 [Option ID = 5997]
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Topic:- Commerce_25N5H1_SHAAN_NOVZ1B

1)

Passage

In 2019, India’s ten largest trading partners were USA, China. UAE, Saudi Arabia,
Hong Kong, Iraq, Singapore, Germany, South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations, including ASEAN, SAFTA, Mercosur, South Korea, Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector. while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National

For, ORI (s ORI, SERERPTUE RSP LI OO CPTEONE . SN, KFIRREL o 3 UGty b | JOPRNL. [SNPCUESPVRTPNT TRELY SRS, Rty (T FECIITUITICEULE, (OTT RO - ISETE TR SEL, S SNPIEE Soo TSRS
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India i1s the world’s sixth — largest manufacturer. representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population is rural whose
primary source of livelihood is agriculture and contributes less than 50% of India’s GDP. It

has the world’s fifth — largest foreign — exchange reserves worth ¥ 38.832.21 billion
(US $540 billion). India has a high national debt with 68% of GDP, while its fiscal deficit
remained at 3.4% of GDP. However, as per 2019 CAG report, the actual fiscal deficit 1s 5.85%
of GDP. India’s government — owned banks faced mounting bad debt, resulting in low credit
growth; simultaneously the NBFC sector has been engulfed 1n a liquidity crisis. India faces

high unemployment, rising income inequality and major slump mn aggregate demand.

On the basis of the above passage, give answers to question

India has significant trading partners from which of the following regions:

(A) Europe
(B) America
(C) Asia

D) Afrea

Choose the correct answer from the options given below:

D (A). B). (C) only
@ (B (). (D)only

(3)  (A), (B), (D) only
4) (A) and (D) only

Frafeied T F ANYR 9 999 I S T

a9 2019 H, WRT % 0 U9E 9% SANR UEGR ¥ JuEC, °¥F, I0E, USGl oW, TR, [,
fom, W, sfém wifen oit wieeeis. 2018-19 A wra d st wwma fRwm (e & am)
64.4 faferm sion o1 ot T &, FoR SR TEER I U 3 T HEER  UgE &7 94 g 8
TG, AT, HRGL, S0 RICAT S 337 <91 % W UEG H) % SAE 9§ S B #H 519
<ul < A =7 awardiE 21 S & w0 i 7 55.6% AreH 2 $ii 9 e qf ° sigar gan 49 2, wEth
afterifies & 3R FW &9 ° 9guea® q9 99 F USR W 2| A Yo i g ¥ i win e
3 Ierer Wi e g Te oY T e § U U 8| WRA g1 1 991 aed g9 fakmiar @
1 afvaw At Frim ¥ 3% =1 seme = 2 ok 57 it o W TSR W AWl 21 WRa
SHTAT T 66% FHion 3 e Shfawsa = Mt Ja P 2 3R 38 a9 T 9Ra # Sfedt |
5% HITEH 21 9% T fava w1 e wew wer et @ wew 2 e gem 88,832.21 Tl v
(540 fafera smieh sien) 31 wng <t aodig st =) wifter & = it F1 68% 2, wal® uerRid
Tier S B 3.4% #A1 @1l |, 2019 H divst fuid % 9ER, analEs T9 g g @6
5.85% %| WRA % TWHH S F STAWFE H sAed W @ 2 e o gig § wh g 25 s9e WA
T T UF W TR AT Whe H IR 5N 2| WG 399 SRISTRI, T I AGdl STOHEal 1 TR
wi § ol A A = A

freaforfiaa # & fpm & 8 wwa % et suifie arefiqr 22

T

(A) T

B) e

€y R

D) %S

9 fau 1o e § @ 5 I w1 =29 Hifgu

(1) <Fd (A). B), ©)
2  Fad (B), (C), D)
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3) %I (A), B), (D)
@  FFE A) 3R (D)

[Question ID = 1501][Question Description = Q%1_Commerce_25NS1_SHAAN_NOV21]

T

1 [Option ID = 6001]

2. 2 [Option ID = 6002]
3. 3 [Option ID = 6003]
4. 4 [Option ID = 6004]

Correct Answer ;-
e 1 [Option ID = 6001]

Pagsage

In 2019, India’s ten largest trading partners were USA, China. UAE, Saudi Arabia,
Hong Kong, Iraq, Singapore, Germany, South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations, including ASEAN, SAFTA, Mercosur, South Korea, Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector, while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National
Stock Exchange are one of the World's largest stock exchanges by market capitalisation.
India i1s the world’s sixth — largest manufacturer. representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population is rural whose
primary source of livelihood is agriculture and contributes less than 50% of India’s GDP. It

has the world’s fifth — largest foreign — exchange reserves worth ¥ 358.,832.21 billion
(US $540 billion). India has a high national debt with 68% of GDP, while its fiscal deficit
remained at 3.4% of GDP. However, as per 2019 CAG report, the actual fiscal deficit 1s 5.85%
of GDP. India’s government — owned banks faced mounting bad debt, resulting in low credit
growth; simultaneously the NBFC sector has been engulfed 1n a liquidity crisis. India faces

high unemployment, rising income inmequality and major slump in aggregate demand.

On the basis of the above passage, give answers to question

Which of the following sectors have significant Foreign Direct Investment (FDI) in India?

(A)  Service Sector

(B) Secondary Sector

(C)  Primary Sector

(D)  Fisheries and Animal Husbandry

Choose the correct answer from the options given below:

(1)  (A) and (B) only
(2) (B) and (C) only
(3)  (O) and (D) only
(4) (A) and (D) only

Frafeed T F ANYR 9 99 T ST T

ad 2019 #, WA % W TOY T3 TANR WEHER 9 JUOC, *H, I0E, GSG OWE, TR, [,
fiomR, N, o FiRen ok wieswds. 2018-19 § wRa ¥ Rl wwma ewm (TE S om)
64.4 foform STer @1 iR T &7, oy Ji qER FAM UF @ o olasEre % g & 9 g A
TESTH, ATHT, THIE, ST BT 3R TP 3 430 $ WA YRG H g9 =R G4 3 3R Fo K 57
ZoT = @ T AidE 31 U 8 W Sierd 3 55.6% AFGE 2 IR T8 WeE ool @ Sgar 3 4 2, SEh
St &7 3R FW & 7 S5 49 99 % USPTR I 2| S e 6 g @ e w2in e
$i Jzrer Wi TrEES oA F USE A Wit T 4 § U 3| 9 gl i 9ol a5d e fafEt 3
St Afvam a8 % 3% %1 St A 2 3R 57 Hifems A B ISR USH Hal 81 9EE
FEEAT T 66% Trir 7 fawss Sffamiare # weifie gia $ 2 it s & awa A Sfididi |
5% WiMeHE 21 38 T fIva 1 aeen g9y g9 et wer ven S gew 38.832.21 TekiE v |
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(540 Tafermm swfeh sier) 21w it Ui surl =rft aIfrs 2 o Shdidt $t 68% 2, S T
orer AEd W 3.4% S @l R, 2019 Hi Hiesi e % ouR, awaEE TS Oer e w5
5.85% 2| WA % THEWI Sl 1 SRR B9 9ea o @l @ e e gig ®§ wH o 3 she W
T T TE W GHR TAA Hohe H I 5N 2| WRG I=d SRIPTRI, T I qGdl STHHEAl S ThA
A 9 HH A A R w2

freafefa o @ 6 & 3 vra d yeue fagell Few (uediong) sifers 27

(A) F= gy
B) fodtos i
() wufas &3

(D) HEY I 3R 99 9

A Tou e forpedt € WE IW W TIA FifTC . wEH ITgF

1) ¥ @A) 3 ®)
@  FaE (B) I (C)
3  Fad (C) 3 (D)
@ ¥ @A) 3R D)

[Question ID = 1502][Question Description = Q92_Commerce_25NS1_SHAAN_NOV21]
. 1 [Option ID = 6005]
2. 2 [Option ID = 6006
3. 3 [Optien ID = 6007]
4. 4 [Option ID = 6008]

Correct Answer :-

& 1 [Option ID = 6005]

prepp
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Passage

In 2019, India’s ten largest trading partners were USA, China. UAE, Saudi Arabia,
Hong Kong, Iraq, Singapore, Germany, South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations, including ASEAN, SAFTA, Mercosur, South Korea, Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector. while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National
Stock Exchange are one of the World's largest stock exchanges by market capitalisation.
India i1s the world’s sixth — largest manufacturer. representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population is rural whose
primary source of livelihood is agriculture and contributes less than 50% of India’s GDP. It

has the world's fifth — largest foreign — exchange reserves worth ¥ 38,832.21 billion
(US $540 billion). India has a high national debt with 68% of GDP, while its fiscal deficit
remained at 3.4% of GDP. However, as per 2019 CAG report, the actual fiscal deficit 1s 5.85%
of GDP. India’s government — owned banks faced mounting bad debt, resulting in low credit
growth; simultaneously the NBFC sector has been engulfed 1n a liquidity crisis. India faces

high unemployment, rising income inequality and major slump m aggregate demand.

On the basis of the above passage, give answers to question

Which among the following statements is the correct one? (Choose the most appropriate
one)?

(1) India has a better trade relations with European countries.

(2) MSE is the largest stock exchange in the world.

(3) Indian primary sector 1s contrbuting less as compared to other sectors.
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(4) India attracts highest FDI from USA.

ol = F s R w1 g

¥ 2019 #, WRT * @ TEH T3 TANR WEER J JuOC, °¥F, I0E, USdl OWE, TR, [,
firmR, N, o FiRen ok wieswds. 2018-19 § wRd W Rl vwma fewm (TE S oom)
64.4 foferm Sier o1 i T &7, e Sl qER 39N U6 @ o oiasErE % g &9 9 g A
TRESTH, ATFT, THIE, S0 BT 3R TP 3 47 5 WY YRG H g9 =R G 3 3R o K 57
I % WY T AU 21 O & W et 7 55.6% AGH 2 o1 T Hed del 8 Sl 390 & 2, JEhh
FitaifTes &7 3T FN &9 9 SEFeTH 48 99 H USFTR I 21 Fow e A i @ ot w2iE e
# Jorer Wi TREES g F USE A Wit T 0§ U 3| 9a gl i 9ol asd e fafEra 3
it Afvow i 7 % 3% =1 e = 2 sk 57 Hifems o # U9 YeF R 2l A
FEEAT T 66% Trfior 7 faws Sffamiare # wfie gia $ 2 it s & w ara A Sfididi 3
5% WITEH 2| 39F T favd W real ged oe et 4pr Wew ¢ we wew 38,832.21 e T |
(540 Tafermm swifeh sier) 21 W < Ui surl =rft aifrs 2 = St 6t 68% 2, S T
orer AEd W 3.4% S @ SR, 2019 Hi Hiesli e % ouR, awaiE TS Oer e w5
5.85% 2| WA % TLHWI Sl 1 SRR B9 9oa o @ @ ey e gig ®§ wH o 3 she W
WY T TE W TR TAA Hhe H IO 5N 2| WWG I=d SRIPTRI, T I Al STHHEal 1 T
A 1 9l FH R A A R @ R

fraforfaa i 3 4 i wd 87 (waifus Ivgw 99)

Q) i e % ey 9Rd % Sga IR ey 3

(2)  UH Y § g % wE a9g Wik U 3

(3) 3= dee) i qoE § wrE % afie S0 8 AeH Sl 2
(4  ura I e ¥ vt ewdag w g 2

[Question ID = 1503][Question Description = Q93_Commerce_25N51_SHAAN_NOV21]

1. 1 [Option ID = 6009]
2. 2 [Option ID = 6010]
3. 3 [Option ID = &011]
4, 4 [Option ID = 6012]

Correct Answer ;-
e 1 [Option ID = 6009]
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Passage

In 2019, India’s ten largest trading partners were USA, China. UAE, Saudi Arabia,
Hong Kong. Iraq. Singapore, Germany., South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations, including ASEAN, SAFTA, Mercosur, South Korea, Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector, while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National
Stock Exchange are one of the World's largest stock exchanges by market capitahsation.
India is the world’s sixth — largest manufacturer. representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population 1s rural whose
primary source of livelihood 1s agriculture and contributes less than 50% of India’s GDP. It

has the world’s fifth — largest forelgn — exchange reserves worth ¥ 38.832.21 billion
(US $540 ballion). India has a high national debt with 68% of GDP, while its fiscal deficit
remained at 3.4% of GDP. However, as per 2019 CAG report, the actual fiscal deficit is 5.85%
of GDP. India’s government — owned banks faced mounting bad debt. resulting in low credit
growth; simultaneously the NBFC sector has been engulfed in a liquidity crisis. India faces

high unemployment, rising income inequality and major slump 1n aggregate demand.

On the basis of the above passage, give answers to question
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The Comptroller and Auditor General has reported a different estimate than of

governements, in terms of :

(1) GDP (2) Fiscal Deficit

(3) FDI (4) Liquidity of private banks

Frafeed T F ANYR 9 99 I SR T

a9 2019 4, YR % o0 U9E 9% NN UERR ¥ JuEe, °F, I0E, wSgl oWd, TR, [,
fam, W, sfémr wifen oft wieaeis. 2018-19 A wra d st vwma fRm (we & om)
64.4 faferm sior o o T &, o iR CEER 3@ U § S A TER B UgE &7 54 g 8
TGS, WIFT, TR, A0 RIRET ST Fw 3 43 % W ueg $ god SAnn gl ® St e il s
Zul < A T7 At 21 g & w0 i 7 556.6% AreH 2 i 97 e qoft ° Sigar gan 49 2, JEth
fteifi & R F & ° 9gueaE q9 99 H USR W 2| A Yo 6 g ¥ 9 Wi e
3 Jerer Wi e g % Ae oY T El § U U 8| RA g 9 991 o g9 fakmir @
1 afvaw fAfmm Frim % 3% =1 seame W 2 R 57 it o W TSR W A 21 SRa 9
SEEAT T 66% THw 2 fSe SifresE 1 maiE da $ 2 3 @ 49 w1 9wa # Sie 3
5% AMTGH 21 39 Wi fava w1 veen asa agn st g vsw 2 e gea 38,832.21 e v
(540 fafera smieh sien) 31 wng <t aedim st =) wifter 2 = it F1 68% 2, wai® uerridi
et g W 3.4% w1 @ dihT, 2019 H dist i % 9uR, anaEsd ToeR e g w6
5.85% %| WRA % TWHM S F STAFR F e W @ 2 O owg gig § wh oo 25 59 W
[ T OF W TR AT Whe H IR BN 2| WG 399 SRITRI, T F "Gl STHHEal 7 TR
w § ol S gAE w a w= w a

i wEaliern I forads Hel 3 iR | 31em STHH Sy foRn B2

D S (2) TIARNE =
(3 URSE @) Fsh S A wem

[Question ID = 1504][Question Description = Q94_Commerce_25N51_SHAAN_NOV21]

1.

1 [Option ID = 6013]

2. 2 [Option ID = 6014]
3. 3 [Option ID = 6015]
4. 4 [Option ID = 6016]

Correct Answer ;-
e 1 [Option ID = £013]

3)

Passage

In 2019, India’s ten largest trading partners were USA, China. UAE, Saudi Arabia,
Hong Kong, Iraq, Singapore, Germany, South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations, including ASEAN, SAFTA, Mercosur, South Korea, Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector, while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National
Stock Exchange are one of the World's largest stock exchanges by market capitalisation.
India 1s the world’s sixth — largest manufacturer, representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population is rural whose
primary source of livelihood 1s agriculture and contributes less than 50% of India’s GDP. It

has the world’s fifth — largest foreign — exchange reserves worth ¥ 38.,832.21 billion
(US $540 billion). India has a high national debt with 68% of GDP, while its fiscal deficit
remained at 3.4% of GDP. However, as per 2019 CAG report, the actual fiscal deficit 1s 5.85%
of GDP. India’s government — owned banks faced mounting bad debt, resulting in low credit
growth; simultaneously the NBFC sector has been engulfed 1n a liquidity crisis. India faces

high unemployment, rising income inequality and major slump m aggregate demand.
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On the basis of the above passage, give answers to question Your Personal Exams Guide

Which of the following has not been articulated in the passage?

(A) GDP Growth
(B) Currency flows
(C)  Ligqudity

(D) Demographics

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (B)only

(4)  (C) and (D) only

ot = F R R w8

¥ 2019 #, WA % @ TOH T3 TANR WEER 9 U, oqH, I0E, GSG oW, TR, [,
fiomR, N, o FiRe ok wieswds. 2018-19 # wRd ¥ Rl Twma few (TE S oom)
64.4 foferm Sier @1 iR T &7, e St qWER 3N U6 @ o SasErE % 9 & 9 5O A
TRESTH, ATHIT, THIE, S0 BT 3R TP 31 430 5 WY YRa H 90 =IWE G4 3 3R o K 57
ZoT = AT T AidE 31 a8 B Sier 3 55.6% ArGE @ IR T8 TeE el @ Sl 3o 4 2, SEh
St &7 3R FW &9 7 SgHeTF 49 99 USPTR I 2| "o e 6 g @ e w2in oaeee
3t J7el Wi THEES g $ A9 93 T2 s A ¥ U 8| 9T g 1 Da1 @9l sl fatiatar 2
St Afver e i % 3% %1 Sed A £ 3R 57 Hifems A $l ISR USH T &1 9EE
FEEAT T 66% Twir 7 fawss Sfamiare # wifi gia $ 2 it 3| & w ara A Sfididi 3
5% WEH 2| 39F T fava w1 areal Ged oe et e Hew ¢ e Tew 38,832.21 T ww|
(540 Taferm eiichi sfer) 21 wra 6w surl Frhr wiftes 2 9 Sy 1 68% 2, Sar® T
orer HEd W 3.4% S @ R, 2019 Hi Hiesi e % ouR, anaiEE TS e e w5
5.85% 2| WA % TLHWI Sl 1 SRR B9 9ea = @l @ e e gig ® wH o 3 she my-
Y TR U W] UFR TAd G2 H IO el 2| WRA I SUSTRI, ST T Sedl STHEHGT ST T
A T 9l HH A A = @ R

fr 1 A o | g2 g § srafifE 3E 20

() GDP fawm
(B) A Bl HdE
(C)  weEw

D) I

Hra fou o fasredi 4 @ @t @ w1 v Fifw - @A g
(1)  ad (A) 3R (B)

2) %= (B) 3R (O)

(@) ¥ (B)

@ &I (C) IR (D)

[Question ID = 1505][Question Description = Q95_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6017]
2. 2 [Option ID = 6018]

| 3. 3 [Option ID = 6019]
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| 4. 4 [Option ID = 6020 .
. [.. e ] "Your Personal Exams Guide

Carrect Answer ;-
& 1 [Option ID = 6017]

Topic:- Commerce_25NSH1_SHAAN_NOVZ1C

1)

Read the following passage carefully and answer the question:

XYZ Ltd. funrnished you with the following information:

Budget Actual (in a particular month)

No. of working days 25 27
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate 1s ¥ 1 per unit. In a particular month the actual hours worked were
51,500.

What is the total overhead variance in the given month experienced by the XYZ Ltd?

(1) Rs. 4,000 (Favourable) (2) Rs. 2,000 (Adverse)
(3) Rs. 1,000 (Adverse) (4) Rs. 2,000 (Favourable)

Feferfas o % YR 9 U9 F SR A
XYZ f&1. 3 syt fafafga gaan sem i
wSe  andfas (U wE fase 1)

*rd feadi 6 wemn 25 27
IAqEA (THHI H) 20,000 22.000
F9REd RErE (398 H) 30,000 31,000
goe R T wferdi ufemE 1 e 9fy gfe 31w ure faew  arafas e 98 ) d@n 81500

oft|

XYZ . 1 yed w8 U $A ITRAFTG IR fefern 87

(1) 4,000 %93 (3g%A) (2) 2,000%9% (sifdaer)
(3) 1,000 %7 (whkik) @ 2,000%8 (F7HA)

[Question ID = 1506][Question Description = Q96_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6021]
2. 2 [Option ID = 6022)
3. 3 [Option ID = 6023]
4. 4 [Option ID = 6024]

Correct Answer :-
& 1 [Option ID = 6021]

Read the following passage carefully and answer the question:

XYZ Ltd. funrnished you with the following information:

Budget Actual (in a particular month)

No. of working days 25 27
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate 1s ¥ 1 per unit. In a particular month the actual hours worked were
51,500.
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What 1s the expenditure variance of XYZ Ltd as on given month? Your Personal Exams Guide
(1) Es. 1,000 (Adverse) (2) Rs. 1.500 (Adverse)
(3) Rs. 2,000 (Favourable) (4) Rs. 1,500 (Favourable)

fFeferias T=iw % uE W T W SRS
XYZ f&1. 3 sl ffafaa gaa sem
woe  andfas (s wE faee 1)

& feaw] & wen 25 27
I (TRl 1) 20,000 22.000
F9REd JRErE (399 °1) 30,000 31,000
g N T wferd IufemE 1 s iy gfe 31w ure T W arafas wR 9E 1 d@n 81500

oft|

ved w1 § XYZ 4. =1 = sia e 27
(1) 1,000 x93 (yfrga) (2) 1,500 %9 (9feHa)
(3)  2,000%73 (34FA) (4) 1,500 %9 (%)

[Question ID = 1507][Question Description = Q97_Commerce_25N51_SHAAN_NOV21]
1. 1 [Option ID = 6025]
2. 2 [Option ID = 6026]
3. 3 [Option ID = 6027]
4, 4 [Option ID = 6028]

Correct Answer ;-
e 1 [Option ID = £025]

Read the following passage carefully and answer the question

XYZ Ltd. funrnished you with the following information:

Budget Actual (in a particular month)

No. of working days 25 27
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate 1s ¥ 1 per unit. In a particular month the actual hours worked were
21.500.

From given information in the passage. what 1s the volume variance of XYZ Ltd in given

month?
(1) Bs. 3,000 (Favourable) (2) Rs. 2.000 (Adverse)
(3) Rs. 1.500 (Favourable) (4) Rs. 1,500 (Adverse)

Fferiag T % SR W O F SR B
XYZ f&. 5 s Fefafga gaa vgm i -
T ARl (UF uR fase 1)

& feawi 6 aen 25 27
I (UHHI U) 20,000 99,000
st 3ufemm@ (598 §) 30,000 31,000

g9z & M il ufar@ 1w gfa gfe 81 v ur fase o anafas $@ wel f 9= 31500
off|
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TR U Yed YT ¥ SIHR YT U W XYZ . %1 uftro s R 22

(1)  3,000%93 (3HFA) (2) 2000 %93 (vfdge)
3)  1,500%9 (%) @ 1,500%93 (sfpe)

[Question ID = 1508][Question Description = Q%8_Commerce_25NS1_SHAAN_NOV21]

1 [Option ID = 6029]
2 [Optien ID = 6030]

1.
2.
3. 3 [Option ID = 6031]
4.

4 [Option ID = 6032

Correct Answer :-

e 1 [Option ID = 6029]

prepp
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Read the following passage carefully and answer the question
XYZ Ltd. funrnished you with the following information:

Budget Actual (in a particular month)

No. of working days 25 27
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate 1s ¥ 1 per unit. In a particular month the actual hours worked were
51,500.
Find the capacity variance for the month from the information given in the passage.

(1) Es. 1.000 (Favourable) (2) Rs. 900 (Adverse)
(3) Rs. 1,500 (Favourable) (4) Rs. 1.000 (Adwverse)

Feferfas e % YR 9 U9 F ST E
XYZ f&1. 3 smaat ffafaa gaa s
W5l andfas (T TrE fas 1)

% feadi i wemn 25 27
I (U 1) 20,000 22,000
F9REd JRETE (398 H) 30,000 31,000

ge R T Iwfedi uferE 1 s 9fy gfe 31w ure e W arafas wR aE 6 d@n 81500
eff|

T § S Yol A I 918 % A aga S F g @

(1) 1000 & (3HIFHA) (2) 900 % (W)
3 1,500 TR (36EA) @ 1,000 %5 (dfege)

[Question ID = 1509][Question Description = Q99_Commerce_25NS51_SHAAN_NOV21]

1. 1 [Option ID = 6033]
2. 2 [Option ID = 6034]
3. 3 [Option ID = 6035]

4. 4 [Option ID = 6036]

Correct Answer ;-
e 1 [Option ID = 6033]

EFrEYT Y T i % Ll oy T i an A 1N Eo - (]
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A3 L BalRd. TWIIDTISIICU VUL WELLL LLET LUIIUW LI 1LV LIniil.

Budget Actual (in a particular month)

No. of working days 25 27
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate 1s ¥ 1 per unit. In a particular month the actual hours worked were
21.,500.

Given the information in the passage, what is the calendar variance for the month?

(1) Rs. 2,000 (Favourable) (2) Rs. 3.000 (Adverse)
(3) Bs. 2,400 (Favourable) (4) Rs. 1.000 (Adverse)

et = % YR 9 U9 F ST A
XYZ f&1. 3 smya1 fafafaa gaan sem $
qSe  andfas (U wiE faee 1)

+r feadl 6 wen 25 27
IATEA (U o) 20,000 22,000
s9fEdl IufemE (3939 1) 30,000 31,000

o 1 e S IaRerE 1 s ufa gfe 21w ue faew 1 anafas w92l fogen 31500
off|

T YEH 1 6 FEN IH WG & U hefed 7 foham 37
(1)  2.000%9 (3FA) (2) 38,000 %73 (ufrme)
(8) 2,400 %9 (FIHA) 4 1,000 %7 (ufdHa)

[Question ID = 1510][Question Description = Q100_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6037]
2. 2 [Option ID = 6038]
3. 3 [Option ID = 6039]
4. 4 [Option ID = 6040]

Carrect Answer ;-
& 1 [Option ID = 8037]
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Topic:- GP_25NOV_SH1_A

1) Study the table carefully and answer the questions that follow

Given below is a table that shows the expenditure of a company (in Lakh Rupees) per annum over the given

years.
penditure | Salary | Travel | Hospitality | Interest on | Taxes
item Loan
Year
2016 330 70 30 23 80
2017 320 63 33 31 a7
2018 420 72 e dd 21
2018 450 73 40 26 94
2020 480 24 43 35 97

IS BT IAUFHTYdS reau= Bifere iy Fufafaa v & S dfe
Fafafaa arfte § ved ool & ve $u-l & wfa o oy (@ 3ua §) &1 Jozo sfarman g -
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aY
» ww | W | omm || L #
2016 334 70 30 2B 84d
2017 364 65 33 3 87
2018 4240 7 35 33 91
2019 45( Fiv) 40 36 949
2020 480 84 43 39 97

Increase of expenditure from 2019 to 2020 in percentage is:

2019 3 2020 o @& = 3 foaor gftera afp g ?

[Question ID = 1261][Question Description = S2_qSNz_PG_GP18_Q01]

1. 6.9/6.9

[Option ID
2. 3.3/5.3

[Optien ID
3. 5.8/5.8

[Option ID

4, 7.2/7.2

[Optien ID

= 5041]

= 5042]

= 5043]

= 5044]

Carrect Answer ;-

& 6.9/6.9

[Option ID

= 5041]
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Your Personal Exams Guide

Z)  Study the table carefully and answer the questions that follow

Given below is a table that shows the expenditure of a company (in Lakh Rupees) per annum over the given

years.
penditure | Salary | Travel | Hospitality | Interest on | Taxes
item Loan
Year
2016 330 70 30 28 80
2017 320 63 33 31 a7
2018 440 72 e~ dd 21
2018 450 73 40 26 94
2020 4820 84 43 35 97

IS BT IAUFHTYdS 3reau= Bifee iR Fafafaa vi & s@ dfe
Fafufaa afee § ved ool & ve $u- & wfa o oy (@ 3ua ) o1 Fozo exfarman g -

aY
- ww | W | omm | afw | L w
2016 334 70 20 2B 80
207 364 65 33 31 8/
2018 4240 7e 35 33 91
2019 450 75 40 36 949
2020 480 84 43 39 97

“:.u:j’p:.v
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In which year is the Travel expenditure (as a percentage) minimum?

Ro and 9 a1y @ @1 givrem «=ipied 381 & 7

[Question ID = 1262][Question Description = $2_qSNz_PG_GP18_Q02]

1. 20017/2017

[Option ID = 5045]

2. 2018/2018

[Option ID = 5046]

3. 2019/2019

[Opticn 1D = 5047]

4. 2020/2020

[Option ID = 5048]

Correct Answer ;-

e 2017/2017

[Option ID = 5045]

3)  Study the table carefully and answer the questions that follow

prepp

Your Personal Exams Guide

Given below is a table that shows the expenditure of a company (in Lakh Rupees) per annum over the given

years.
penditure | Salary | Travel | Hospitality | Interest on | Taxes
itemn Loan

Year
2016 330 | 70 30 28 80
2017 380 | 65 332 31 87
<018 420 | 72 32 Er 21
2019 450 73 40 36 o4
2020 480 |89 43 3g 97

aifereT o1 W urFiYd® srerge iR AR Fafafaa vt & swr df
FaffEd et & wad aul § U $U-1 & Aid a9 099 (@ 34 J) &1 faazo Sxfmman g

reata
T | | | i |
2016 330 7o 30 ZB 80
2017 360 ) 33 31 87
2018 420 72 35 33 91
2019 450 Fa 40 36 99
2020 480 B4 43 33 3

What is the average expenditure on Travel and Hospitality during 2016 to 20207

2016 A 2020 o Sizrar Ay a snferew a3 i s fvasn g 8 7

[Question ID = 1263][Question Description = $2_qSNz_PG_GP18_Q03]

1. 110.5/110.5

[Option ID = 5049]

2. 109.4/109.4

[Option ID = 5050]

3. 108.3/108.3

[Option ID = 5051]

4. 108.7/108.7
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[Option ID = 5052]

Correct Answer ;-

« 110.5/110.5

[Option ID = 5049]

4)  Study the table carefully and answer the questions that follow

prepp

__Your Personal Exams Guide

Given below is a table that shows the expenditure of a company (in Lakh Rupees) per annum over the given

years.
penditure | Salary | Travel | Hospitality | Interest on | Taxes
item Loan
Year
2016 330 70 30 28 30
2017 380 63 33 31 g7
2018 440 I e dd 21
2019 450 73 40 36 94
2020 430 84 43 35 97

IS BT IAUFHTYdS 31y Bifee iR Fafafaa v & S@ e
Fafefas afte § ved ool & ve $u-l & wfa o g (@ 3ua ) o1 Fozo exfarman g -

aY
» ww | W | omm || L #
2016 334 70 20 2B 84
2017 364 65 33 31 87
2018 424 7 35 33 91
2019 45 75 40 36 949
2020 480 84 43 39 97

In which year is the ratio of Salary to Hospitality maximum?

fepz1 adf 3 aer a anfere o1 g Faiftes @ 8 7

[Question ID = 1264][Question Description = S2_qSNz_PG_GP18_Q04]

1. 200172017

[Option ID = 5053]

2. 201872018

[Option ID = 5054]

3. 2019/2019

[Option ID = 5055]

4, 202072020

[Option ID = 5056]

Carrect Answer ;-

& 2017/2017

[Option ID = 5053]

5) The difference between average expenditure on ‘Taxes' and average expenditure on ‘Interest on Loan’ is:

Study the table carefully and answer the questions that follow

Given below is a table that shows the expenditure of a company (in Lakh Rupees) per annum over the given

years.

. penditure
itetmn

Salary

Travel

Hospitality

Interest on
Lean

Taxes

":--:,!'p:-
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Year ™~

e 330 0 30 28 80
2017 380 63 23 31 57
2018 420 | 72 35 33 21
2015 450 75 40 a5 o4
2020 480 24 43 39 97

aifereT o1 arauriYde serge PR ok Fafafaa vil & sw A :
Frafofad aifast § ued auf § o $u-t & Afd 99 o940 (@8 304 H) &1 [qaRu SR T g -

rearag
T | | | i T | =
2016 330 7o 30 ZB 84
2017 380 b5 33 31 87
2018 420 72 35 33 21
20019 450 5 40 36 93
2020 48( 84 43 33 97

vl a7 e Wy AT SEUT O WG U7 i WIR ol A §

[Question ID = 1265][Question Description = $2_qSNz_PG_GP18_Q05]

1. 54.8/54.8

[Opticn ID = 5057]
2. 55.6/55.6

[Option ID = 5058])
3. 56.4/56.4

[Option ID = 5059]
4. 57.2/57.2

[Option 1D = 5060]
Correct Answer :-
e 54,8/54.8

[Opticn ID = 5057]

prepp
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Topic:- GP_25N0OV_SH1_B

1) The basic free version of 200M web meeting platform allows an online class to be conducted for how many minutes?

200M aHfifest wiewts @ At forgleas wuiaz 3 feseor fere sifor cirzal aara aciiel &t sgpafa 2 ?

[Question ID = 1266][Question Description = $2_qSNz_PG_GP18_Q06]

30 minutes/30 fex [Option 1D = 5061]
40 minutes/40 fime [Option ID = 5062]
50 minutes/50 fise [Option ID = 5063]
60 minutes/60 fime [Option ID = 5064]

a2

Carrect Answer ;-
& 30 minutes/30 fime [Option ID = 5061]

2) Match List I with List lI

List | List I

Content Area ]Integrat‘ing Technology Application

A. Reading/Language Arts

I. Software programs to develop basic reading skills

B. Mathematics

Il. Simulations to explore distant places and times

C. Science |III. Graphing calculations to illustrate abstract or hard-to-visualize relationshipg

D. Social Studies

Iv. Simulations to illustrate complex relationships
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et -1 ot et 11 3 e if

et | et 11
;Tm \(=reer GRRBREY srrgieY)

AR | b oo oy TR daRt @ firg Siirede Qe
I3TE] oIl

B. sifora Il. zz=er Fema siiz @ @l STAUvI Wol @ e aregeunT
|Ill.mﬂmmﬁﬁmﬁmmquﬁmﬁ#ﬁaﬁuﬁ

C. fasmer
FUEC 3ol B fo1a ST0TeiIsil A SrgTel
D. wa=
IV. sifeer Fi<ieli @t wrol D
| wa: U fere srggzeuon

aitar v oo Reeal # A =8 saw gfee ¢
[Question ID = 1267][Question Description = $2_qSNz_PG_GP18_Q07]

1. A=, B-1,C-1ll, D- 1Y [Option ID = 5065]
2. A-1,B-1ll, C-1IV,D- Il [Option ID = 5066]
3. A-1l,B-I¥, C-1l, D-I[Option ID = 5067]
4. A-IV,B-1I,C-1,D- 1l [Option ID = 5068]
Correct Answer ;-
o A-I,B-1,C-1l, D- IV [Option ID = 5065]

3) Given below are two statements:

Statement I: You can make the behaviours you teach, more authentic by changing the irrelevant aspects or context of what
you are teaching as often as possible and in as many different ways as possible.

Statement |l: To teach behaviour that is authentic, your lesson need not present content in a way in which it will be used
by your learners on assessments, in subsequent grades, and in the world outside your classroom.

In light of the above statements, choose the most appropriate answer from the options given below

oI §1 werer Ry s1w 3 &

were - | & 3 wIasrl @l 91810 g, 3oih MK Ugll a1 Hoesll 1 o Fisdg acel e iz Ten ¥hid Hisol wUl # yzga @2, Altre Jeiis
oIl Fh &

el - 1| ; v wraanr i ganiee & & [RBigm & i, anad wie & g gz ®F 380 U 3 YIed Sol Dl Aaeadar ofdl 2 e =u 3 s
farzmelt Fazardl 3)3], Jfiz smueht wen A aree Bt ghrn |, koo © Re swEiet wist

IRITE Ul & AFIRD A, sl 7 91 koedl # 31 w138t = @1 = $ifsm @
[Question ID = 1268][Question Description = S2_qSNz_PG_GP18_Q08]

1. Both Statement | and Statement [l are correct/wem | Az || Si=t =@ & [Option ID = 5069]

2. Both Statement | and Statement [l are incorrect/wsem | 3 1| Siatt srrr & [Option (D = 5070]

3. Statement | is correct but Statement Il is incorrect/wsermy | A2t &, fseg wea || aiem & [Option ID = 5071]
4. Statement | is incorrect but Statement [l is correct/wam | #0m 8, fibeg e |l 38 2 [Option 1D = 5072]

Correct Answer :-
# Both Statement | and Statement |l are correct /asee | i || 3l 3=t € [Option ID = 5069]

4) Which of these decision traps pertains to thinking and planning activities?
A. NOT keeping records

B. Overconfidence

C. Plunging-in

D. Frame-blindness

E. Poor frame control

Choose the correct answer from the options given below:

fBrrmferf3a 3 31 wiar 3 forofar - Swer Rranor iz Brarsrs Rgaroserdl 3t 33 8 7
A. arfs@rsr o1 Tmven

B. aifer spewfReara

C. sifas s won Joren (wifSier sa)
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sl 2v a1 Repedl # 31 38 37 @1 o= i
[Question ID = 1269][Question Description = 52_qSNz_PG_GP18_Q09]

A, B and C only/dsam A, B 3z C [Option ID = 5073]
B, C and D only/&am B, C 3fiz D [Option 1D = 5074]
4, C and E only/sam A, C 3fis E [Option |D = 5075]
€, D and E only/@5ae €, D 3 E [Option 1D = 5076]

T e

Carrect Answer ;-
& A BandConly/@am A, B sz C [Option (D = 5073]

5) Arrange these instructional events for delivering the lesson to students in sequential order from the beginning to the
end.

A. Informing the learner of the objectives
B. Eliciting desired behaviour

C. Gaining attention

D. Presenting the content

E. Providing feedback

Choose the correct answer from the options given below

fenil w1 are usnl @ e g6l el YIcd<s aeoli3il ol YRy 3 3id @& o 3 oo
A. foramdt Wi sgeal Bl ool Son

B. aiffsa saasr gig weon

C. ezt sinfda ween

D. Rraer aveg gFdea wIen

E. gffrgfec gema @wwen

oiil 18 =1u faweal # A 1l Iz @I T DT 2

[Question ID = 1270][Question Description = $2_q5Nz_PG_GP18_Q10]

A, D, B, C, E [Option ID = 5077]
D, C, B, A, E [Option ID = 5078]
C, A, D, B, E [Option ID = 5079]
B, C, A, E, D [Option ID = 5080]

oL B

Correct Answer :-

a A D,B, C, E[Option |D = 5077]

6) Sometimes, subjects who know that they are in a control group may work hard to excel against the experimental group.
Such a phenomenon is known as

ot ool gEt=a, Sif s wier £ o6 d brige s 3 8, YRR w9g @ [ing 3en! armx Rmm o e digo &2 I 2 33 ulsacar &f
foract wa 3 e Swen 3 :

[Question ID = 1271][Question Description = $2_qSNz_PG_GP18_Q11]

Controlled Competition/Brifte gifeagt [Option 1D = 5081]
Motivational Contest/afirzr g [Option 1D = 5082]

Compensatery Rivalry/affmft uitrgfzen [Option ID = 5083]

Inspirational Influence /{zumEere gama [Option 1D = 5084]

o R

Correct Answer :-
e Controlled Competition/&riftsr giirugt [Option (D = 5081]

7) Analytic Induction is a method of
A. Systematic interpretation of events
B. Generating hypothesis

C. Testing hypothesis

D. Freestyle interpretation

E. Testing null hypothesis only
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Choose the correct answer from the options given below: .
P g Your Personal Exams Guide

fersyawnras e fomfcliaa 3 2 Roa &t faf 3 7

A, Teotil &l Foaalien s

B. gramreusnt Il o

C. yraodsinzii ol e el

D. 375 ==

E. @aa ool grascuenail o1 witgon oo

olfer 6w s1e faapeal 3F 2 71él T &1 aas DHifag ¢

[Question ID = 1272][Question Description = $2_q5Nz_PG_GP18_Q12]

1. A, B and C only/daet A, B 3z C [Option ID = 5085]
2. B, Cand D only/@ae B, C sfiz D [Option ID = 5086]
3. C, Dand E only/w@aa C, D 3 E [Option ID = 5087]
4, A, B and E only/aa A, B sfiz E [Option 1D = 5088]

Correct Answer ;-
o A, BandC only/smm A, B 3z C [Option D = 5085]

8) The characteristics of longitudinal studies are:

A. Limited results

B. Do not need heavy investment

€. Provide alternative choices

D. Allow insight into the time order of variables

E. Focuses on individual or institutional developments

Choose the correct answer from the options given below:

Aqgeed szl & foraftfiaa fafdreeas &

A, it ufma

B. srdl foraer &t sragamar ol il 2

C. dofeus T Yo Tl 3

D, o3 & T oA # aicdite & agaky 2ar 2

E. daftoe stemar sivensia Ao uz ofea wwar

oiil 18 =1u fameul # A 1l Iz @1 T DI 2

[Question ID = 1273][Question Description = $2_qS5Nz_PG_GP18_Q13]

1. A, B and C only/@®am A, B 3z C [Option [D = 5089]
2. B, Cand D only/@ae B, C iz D [Option ID = 5090]
3. C, Dand Eonly/@mm C, D 3z E [Option ID = 5091]
4, A, Dand E only/=szm A, D 3fiz E [Option D = 5092]

Correct Answer ;-
e A, BandC only/sma A, B 3z C [Option D = 5089]

9) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A research question should have some connection with an existing theory or research.
Reason R: The research question formulated should be either too broad or too narrow.

In light of the above statements, choose the correct answer from the options given below

ofiY 31 e RBu s ¢ wop aifdroera (Assertion A) @ =u 3 iz gz sas orer (Reason R) & wa # ;
sfireoerat (A)  eiter gea o fiselt Riemama Rrgia semar oiter A o dddy fenm aiigy

@11 (R) : g oiter geol @) airalirep g srerar sl sidhivf e anfag

D el @ e , iRy Ru famedt # A 7 39z o avrel Hifsm ;

[Question ID = 1274][Question Description = $2_q5Nz_PG_GP18_Q14]
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oW

A is true but R is false/f (A} w1 &, ofise (R) amew & [Option D = 5095]
A is false but R is true/(A) smr= &, aftsa (R) i & [Option D = 5096]

Correct Answer :-

# Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) 8at &g € &tz (R), (A) &t 38t sre=n & [Option 1D = 5093]

Both A and R are true and R is the correct explanation of A/(A) iz (R) Smf o & 4iiz (R), (A) & =@ sa=n £ [Option 1D = 5093]
Both A and R are true but R is MOT the correct explanation of A/(A} 4tz (R) Wi 30g uweg (R), (A) &t 3 = =t 2 [Option 1D = SG%?

prepp

ur Personal Exams Guide

10) Match List | with List [l

List | lList 1

Artifacts |Description

A. History |I. Happens when subjects are given similar pre-tests and post-tests

B. Maturation |II. Subjects’ reactions to experimental conditions

C. Testing |III. Occurance of various events during a study

D. Demand IV. Biological and psychological characters changing during the course of the study
characteristics

Choose the correct answer from the options given below:

I -1 B 3t -l A e B ¢

et - it -l

(anfdpac) |( Frezor)

A <5 I.nﬁﬁ;ﬂfﬁfﬂ%mqﬁmﬁnﬁmg&-qﬁmaﬁinﬁ-m
2

B. abraagear |Il.qlzhﬁ1mm1?12ﬁ$qﬁrqzﬁ“&zﬁiﬁmﬁa;m

C. witgmn |III. RIS ® Sl [af¥ool acoinail @1 aféd glen

poai ‘w.mﬁmmammauﬁaﬁa

oftdr e oo Rwseal o A1 3f sae gfee
[Question ID = 1275][Question Description = $2_qSNz_PG_GP18_Q15]

1. A-1,B-1l,C-1ll, D- IV [Option ID = 5097]
2. A-1l, B -1, C-I¥, D- I [Option ID = 5098]
3. A-NIl,B-1V,C-1,D -l [Option ID = 5099]
4. A-IV,B-1,C-1l, D- lll [Option ID = 5100]

Correct Answer :-

@ A-1,B-1l,C-IIl,D- IV [Option ID = 5097]

11) Which of the following is considered unethical communication?
Breaiferfinea 3 | Ry seiferes o Aren suar 8 ?

[Question ID = 1276][Question Description = $2_qSNz_PG_GP18_Q16]

1. Use of alternative source of information /e & fepfimer 2T @ geter [Option 1D = 5101]
2. Mot revealing the source of information /e @ kT <& smeredt =1 Zan [Option 1D = 5102)
3. Propaganda/grgare (giewer) [Option 1D = 5103]

4. Non-commercial publicity /37 =iesie genz [Option ID = 5104]

Correct Answer :-
* Use of alternative source of information /s @en & Jofeas e =1 @@= [Option ID = 5101]

12) Communication means of information.
A. Suppression

B. Exchange

C. Understanding

D. Contextualisation

E. Abstraction

Choose the correct answer from the options given below:

Ayan et af E@en BT _
A, cael

B, fifeam

C. o=

D, deifessor
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E. srafetaszor Your Personal Exams Guide
sy v o1y Rowseal @ A 58 sav o1 oua difee

[Question ID = 1277][Question Description = $2_qSNz_PG_GP18_Q17]

A, B and C only/&am A, B 3fiz C [Option [D = 5105]
B, C and D only/sam B, C 3fiz D [Option 1D = 5106]
C, D and E only/gsam C, D aiix E [Option ID = 5107]
A, B and E only/dam A, B e E [Option 1D = 5108]

o e =

Correct Answer :-
o A B and C onlyfaaa A, B sfiz C [Option 1D = 5105]

13) Which of the following are determinants in transactional communication?
A, Social context

B. Cultural context

C. Relational context

D. Legal context

E. Delayed context

Choose the correct answer from the options given below:

HAerasiiyr Agun A Besifelan d A wia A foekws & ?

A. FTiice Foes

B. Arwiter oot

C. JgemIrRD Jget

D. [iitre sgH

E. Ricifer siest

ol fou sre faepodl 3 3 1l st @1 ags difen ©

[Question ID = 1278][Question Description = $2_qg5Nz_PG_GP18_Q18]

1. A, Band C only/@mam A, B 3fiz C [Option D = 5109]
2. B, Cand Donly/smm B, C 3z D [Option ID = 5110]
3. C, Dand Eonly/@mm C, D &z E [Option ID = 5111]
4. A, Band E only/d@a A, B afiz E [Option ID = 5112]
Correct Answer ;-

s A, Band C only/aam A, B afiz C [Option ID = 5109]

14) Given below are two statements:
Statement I: In communication, language ambiguity takes place because of the incorrect use of words.
Statement |l: Informal time terms lead to different interpretations.

In light of the above statements, choose the most appropriate answer from the options given below

ofldy St wesr Rusre ¥ ©

averot - | ¢ gt 3 sien Affeer orsl @ sraa gier 45 oo Bl

aseret - || @ sreiioenfyer o el @ wseor Brear o 8t &

IR WAl @ el #, A Ry a1 Rovedl # A @wél saz o e S ¢
[Question ID = 1279][Question Description = 52_qSNz_PG_GP18_Q19]

1. Both Statement | and Statement [l are correct/wae | 3z || 3l 32t € [Option ID = 5113]

2. Both 5Statement | and Statement [l are incorrect/=am | 2 || Sl o & [Option (D = 5114]

3. Statement | is correct but Statement Il is incorrect/wserm | 3gt &, fiseg wea || aie & [Option ID = 5115]
4

Correct Answer :-
# Both Statement | and Statement [l are correct/arem | oz || 3 7@ & [Option 1D = 5113]

13) Match List | with List I

List | lList 1
Concept of Power Communication |Descriptinn of feature
A. Legitimate power |I. Specialised knowledge
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B. Referent power ll. By virtue of position : Your Personal Exams Guide
C. Reward power 11, When others feel to be like you
D. Expert power |IV. Control over what others seek

Choose the correct answer from the options given below:

it -1 B 3t -l @ AR iR

e -| i -1l

(orfts @eguor &t Haveaon) {ciarer w1 Razor)

A. d@er 9IRE . fatdmlima sre

B. gefiws oifis Il oz 3R & wre

C. gzzooz 91fip lll. S g% 39 St Bloll aiad &
D. Ridves orfén IV. 321 u Briqor =it g msd §

iy v o1e faseal # 31 A8t 3= gew ;

[Question ID = 1280][Question Description = $2_qSNz_PG_GP18_Q20]
1. A-1,B-11,C- 1, D- IV [Option ID = 5117]
2. A-1l,B-1¥,C-1,D- Il [Option ID = 5118]
3. A-IV,B-1,C-1,D- Il [Option ID =5119]
4, A-1,B- 1, C-1¥, D-1[Option ID = 5120]

Correct Answer ;-
o« A-1,B-Il,C-1,D- IV [Option ID =5117]

16) Which number comes next in this sequence?

1,1.5,.2.5,4,2

T gjzen i arrcll Tz @ior FHi 2Rl ?
1, 1.5, 2.5, 4, ?
[Question ID = 1281][Question Description = $2_qSNz_PG_GP18_Q21]

1. 5/5 [Option ID = 5121]
2. 6.5/6.5 [Option ID = 5122]
3. 5.5/5.5 [Option ID = 5123]
4. 6/6 [Option ID = 5124]

Correct Answer ;-
e 5/5 [Option ID = 5121]

17) How many minutes is it before 12 noon if 48 minutes ago it was three times as many minutes past 9 AM?

3t Qiusz @& 12 astor 3 ool Rieie oo € @l 48 fiore yd 9 aur & ac sl 33 diel 3p6! Bore uz ot ?

[Question ID = 1282][Question Description = $2_q5Nz_PG_GP18_Q22]

1. 33 minutes/33 fime [Option ID = 5125]
2. 43 minutes/43 e [Option ID = 5126])
3. 40 minutes/40 e [Option ID = 5127)
4. 43.5 minutes/43.5 B [Option ID = 5128]
Correct Answer :-
& 33 minutes/33 fime [Option ID = 5125]
18) The population of a bacteria culture increases at a rate of 4% per annum. There is an additional increase of 1% of
the population due to some reason. The percentage increase in the population after two years is, therefore

< Sl g bl soriwar 4% afda Bl o3 A aedl  Resdl orvmer 531 srosz=n # 1% &t aifafyn aiftde gig et 2 aa: 2 ad ag s
Stelzizeen # gferera afi feseefl aeft ?

[Question ID = 1283][Question Description = S2_qSNz_PG_GP18_Q23]

1. 10/10 [Option ID = 5129]

2. 10.5/10.5 [Option ID = 5130]
3. 10.25/10.25 [Option ID = 5131]
4. 10.75/10.75 [Option ID = 5132]

Correct Answer ;-
e 10/10 [Option 1D = 5129]

19) Given below are two statements:
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Statement I: A number is divisible by 12 if the number is divisible by both 3 and 4. .
Your Personal Exams Guide
Statement |l: A number is divisible by 3, if and only if the sum of all the digits of the number is divisible by 6.

In light of the above statements, choose the correct answer from the options given below

il €1 wera Ru s & ¢

el - | 3 afe v diem 3 3z 4 Sial 21 Tl 8, Al ag e 12 3 fonrsa &

werd - | | vop w3 3 fonarsw &, ald ot oaa afe 391 dwcan © it sl @1 At 6 3 e 8
3R derell @ AIclid H, ofler [u 710 farapeal # 2 38l 307 @1 oera Hifom

[Question ID = 1284][Question Description = S2_qSNz_PG_GP18_Q24]

1. Both Statement | and Statement |l are true/wem | 3= || =i 3= £ [Option D = 5133]

2. Both Statement | and Statement [l are false/wemr | 31 1| <5 s £ [Option 1D = 5134]

3. Statement | is true but Statement Il is false /@ | v &, Rveg oo | s & [Option 1D = 5135]
4, Statement | is false but Statement Il is true/wem | spr &, s weE || s 2 [Option 1D = 5136]

Correct Answer ;-
& Both Statement | and Statement |l are true/mem | diz | s=t s & [Option 1D = 5133]

20) Which of the following statement/s is/are correct?

A. Yaman crosses a 600m long road in 5 minutes. His speed is 7.2 km/hr

B. Vinod performs 2/15 of his total journey by train; 9/20 by bus and rest 10 km on cycle. His total journey is 24 km
C. Anita can complete a work in 8 days. She can complete 1/8 fraction of the work in two days

Choose the correct answer from the options given below

Rrafeifiaa A A el 71/ weror w6t 8 /8 ¢

A. o1 o 600 silcs oell wisw ©1 5 Bl # ur @ § Serb a1 & 7.2 Reedt / s

B. Rmile aruesil et agg o1 2 / 15 swe1 ¥oenst A g e § 9/20 et 591 3 il o 10 Roait wslion A 3ahl wo aey ft 24 [t 3
C.anlimor ori D 8 Rmd g ouil 2 as sar ol @ 1 / 8 1251 @I <1 Idol 3 yg1 @z ool 2

FRTE el 3 3 Bla 3 T T & 7

[Question ID = 1285][Question Description = $2_q5Nz_PG_GP18_Q25]

A only/asrer A [Option ID = 5137]
B only/axrT B [Option 1D = 5138)
A and B only/dwmm A afz B [Option 1D = 5139]
A and C only/asrT A die C [Option 1D = 5140]

oL B

Correct Answer ;-
a A only/gaa A [Option 1D = 5137]

21) Consider 'E’ proposition as True and 'I' as False in a square of opposition of proposition and pick the correct answer from
the options given below

fdadrad @ faudid @ aof 3 'E’ aoara ot 32l aiiz 1" @ srer afer 2tz 7él o giowe ¢

[Question ID = 1286][Question Description = $2_qSNz_PG_GP18_Q26]

1. 'AMis True; A s True/'A’ =8t & 'A' =it 3 [Option ID = 5141]

2. '0is False; 'E is False/'Q' #rmm &; 'E =&t £ [Option 1D = 5142]

3. 'I'is False; 'E' is True/|' s/em &; 'E =2t & [Option 1D = 5143]

4. '0' is Undetermined; 'O is Undetermined/'Q’ afemifsam 8; 'O aféruifm 2 [Option ID = 5144]

Carrect Answer ;-
& 'Ais True; 'A'is True/'A’ 28 8; A’ 708t € [Option ID = 5141]

22) Pick the correct code.
arerd / A8t ayxe gfeie

[Question ID = 1287][Question Description = 52_qSNz_PG_GP18_Q27]

1. Middle term must be distributed at least once in the premises of a syllogistic argument/mIRTrG=T & 0= IRFET A 2096 T 3 W9 &0 a2 3aed ek der
@tz [Option [D = 5145]

2. A valid syllogistic argument cannot have two negative premises/ wr iy TRl AR O 51 IVIVERD AROT TR o2 3 e € [Option 10 = 5146]

3. With two particular premises in a syllogistic argument, a universal conclusion can be drawn /e srRr urre 3 =t Ridha amns arrell 3 arifes Breod B =
men & [Option D = 5147]

4. With one negative premise in a syllogistic argument, the conclusion is negative/or =1 aEa 3 o5 WOICAS anumEey 3 |, fored soncees 2y £ [Option
ID = 5148]
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* Middle term must be distributed at least once in the premises of a syllogistic argument /=R © 306 TRFT # 209 ©F H TF O 93 3G9
mize [Option D = 5145]

Correct Answer ;-

23) Mame the fallacy committed in the statements below
"All text books are books intended for careful study.

Some reference books are books intended for careful study.
Therefore, some reference books are text books."

Choose the correct answer from the options given below

a5 GIE o6l ol ady |

il arg YFrad HAueiyde s @ o afiga § o dof grae aauniiyde sieerra @ fow afhga &
are: < ol grerch wiger g 3

[Question ID = 1288][Question Description = S2_qSNz_PG_GP18_Q28]

Existential Fallacy /¥ aroarrr a2 gim [Option 1D = 5149]

Undistributed Middle /aféafa 2g [Option D = 5150]

Affirmative conclusion from Negative Premise/sora s arm 3 oRese e [Option (D = 5151]
Exclusive Premises/ smma s arr [Option ID = 5152]

R

Correct Answer ;-
e Existential Fallacy/ s e w giw [Option ID = 5149]

24) 'l see a piece of fragrant sandalwood' would correctly represent

' & Feiftr accal & Um s @ St & fepmaeT wdl auia 37

[Question ID = 1289][Question Description = $2_qSNz_PG_GP18_Q29]
1. Samanyalakshna /3@ @z [Qption 1D = 5153]

2. Jhanalakshana/smmmamn [Option 1D = 5154]

3. Yogaja/dwra [Option ID = 5155]

4. Nirvikalpa Pratyaksa /fiffeea gragt [Option 1D = 5156]

Correct Answer ;-
® Samanyalakshna/zmawa wigmr [Option (D = 5153]

25) Which of the following is NOT a constituent-member of the Indian syllogistic argument?

ferraferfiaa i 31 wior sizellar Far@ra O Haow AT ois & ¢

[Question ID = 1290][Question Description = $2_qSNz_PG_GP18_Q30]
Upanaya/sur= [Option ID = 5157]

. Udaharana/zsmezo [Option 1D = 5158]

. Sarhsaya/ze=m [Option ID = 5159]

Hetu/2g [Option D = 5160]

oLk B2

Correct Answer ;-
& Upanaya/3ge= [Option ID = 5157]

26) Which one of the following is a disadvantage of using proprietary software rather than open source software?

D i Flwcdez &I aera Faifdva arcl FAiucd<I: © YHiel o ol orefiRad # 3 o= aifor it ?

[Question ID = 1291][Question Description = $2_q5Nz_PG_GP18_Q31]

1. Proprietary software can only be accessed with a password/zaifire ar ive?RR 7 Bae TREE 3 uga 31 sl @ [Option (D = 5161]

2. Proprietary software can only be used on proprietary systems/ Fami#nrg aet JERER 1 ©ac FalkErd Iel Quifcrl 2 g geen foa o e £ [Option 1D =

5162]

Proprietary software is usually more expensive/ =midra o Fivedes AT iz w affms #ig8 251 £ 7 [Option D = 5163]

4. Proprietary software can only be used with an Internet connection/=miEra o Fined=s o dha oo Toayel A & yeEE Bomr @1 om 2 [Option ID =
5164]

fad

Correct Answer :-
® Proprietary software can only be accessed with a password/ =nfirg @l Siucier mr Wt mered 3 aga & saxd & [Option 1D = 5161]

27) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: VisiCalc, the first spreadsheet software application, is a commonly cited example of one of the first Killer
applications.

Reason R: VisiCalc helped in bringing PCs into the business realm.
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In light of the above statements, choose the correct answer from the options given below .
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ofiY 31 e RBu s ¢ wop aifdroera (Assertion A) @ =u 3 iz gz sas orer (Reason R) & wa # ;

sfirerera (A) 1 gert sefie dAivedrr geie! fimere o1 ae diz uz gea koo aggaeT & wa i o ar @ &
@1vl (R) : fafiroes o dizht o cannfyes gfern 3 coat A wermn @

IURITh oGl @ Alc® 3, ik o fawedl 3 31 18l saz o1 = difsw |

[Question ID = 1292][Question Description = $2_q5Nz_PG_GP18_Q32]

Both A and R are true and R is the correct explanation of Af(A) diz (R) gt swa & diw (R), (A) B =&t oo & [Option ID = 5165]

Both A and R are true but R is NOT the correct explanation of A/{A) 3z (R) sl = £ wemg (R), (A) o5 =t =ne=m st & [Option ID = 5166]
A is true but R is false/(A) @ &, wag (R) smwr & [Optien ID = 5167]

A is false but R is true/(A) seww &, memg (R) wrwr £ [Option ID = 5168]

N TCI T

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3z (R) ot wra & 4z (R), (A) & 3t mmesm £ [Option ID = 5165]

28)

With respect to a music teacher who wishes to use a computer to help him to create training material, match List | with List
!

List | List I

Training Material Most Appropriate File Format
A. Printed copies of instructions on how to play his musicl. MP3

B. Sound files of him playing his music Il. DOC

C. Video files of him playing his music . JPEG

D. Images of the instruments he teaches V. AVI

Choose the correct answer from the options given below:

w<p ol Bre W Foos J =i gidiamT FeeEll duar weol o 1T oRge o1 RIS WIel TIed & , IxE - o 3k -1l A il B

et -| et -l

(afdrgor wEE)) (zraifftes sage era wEk)
A. 3 arggReil 1 FRa g 61 Tefla SA @3 [ MP3

B. wisf arcor weA gy Iorbl eafdr wiger Il. pOC

C. it ace o gu Jorbl ARRN wrEa lil. JPEG

D. ot aredl @ ag aeanast @ § gorbt sRe V. AVI

iy Rw o1e faseal & 31 A8t 3w gfew
[Question ID = 1293][Question Description = $2_qSNz_PG_GP18_Q33]

1. A-1ll,B-1,C- IV, D - Il [Option ID = 5169]
2. A-1,B-1l,C-ll, D -V [Option ID = 5170]
3. A-1I,B-1,C- 1V, D- Il [Option ID = 5171]
4. A-1,B-1,C-1Il, D- IV [Option ID = 5172]

Correct Answer ;-

e A-NILB-1,C-1I¥,D-Il[Option ID = 5169]

29) Which of the following statements about internal and external computer memory are true?
A. A portable hard drive is an example of internal memory

B. Magnetic tape is used to store backups of data

C. RAM is an internal memory

D. ROM loses its data when the power is turned off

Choose the correct answer from the options given below:

Dwez $I Aiafre a daradt At o Fder #d oorfeliaa 3 31 ooy A e Wl 8 7
A. didae a1 srsa sntye AR o1 Josr 3

B. disafeas 2a w1 31 @ ¥ - ara @ Rre gaier Ry s 3

C. RAM ariafyrs aiadt 3

D.sm Rl dc o @ ot ET ROM ST st =t S 3

ofld R o1e Rreseal 9 3 78 3w o awer St :

[Question ID = 1294][Question Description = $2_qSNz_PG_GP18_Q34]
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A and B only/sae A 3 B [Option 1D = 5173]
A and € only/@®qe A 4z C [Option ID = 5174]
C and D only/5ae C 3ftiz D [Option D = 5175]
B and C only/@ae B dite C [Option 1D = 5176]

N S PO L ey

Correct Answer :-
o AandB only/®aa A dfiz B [Option 1D = 5173]

prepp
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30) Match List | with List Il

List |

List 1

Description

Appropriate Technical Term

A. Numerical ID for each device on the Internet

I. voip

B. Unique ID for a Network Interface Card (NIC)

Il URL

C. Use of the Internet to make phone calls

1. MAC Address

D. Text used by web browsers to locate a web address on the Internet!IV. IP Address

Choose the correct answer from the options given below:

it -1 B 3t -l @ AR iR

e

et -| et -i

(Rrrzon) (o aweldbt
915 }

A. Sevdte w¥ gede Rarsa @ R sidbr ID I. VOIP

B. dicads e ord & fom ot 1D . URL

C. Wior wier wedl B Rory $eedie w1 gaier . MAC o3=

D. el a9 B3 Hisiol @ {10 d9 sz @Rl YIxb e V. IP w3

ofr foy a1e famseal 3 21 w1t saz gione ¢

[Question ID = 1295][Question Description = $2_q5Nz_PG_GP18_Q35]

1. A-1l,B-1I, C-1, D - IV [Option ID = 5177]
2. A-IV,B-1ll,C-1l, D-I[Option ID = 5178]
3. A-1,B-1II,C-IV,D- Il [Option ID = 5179]
4, A-IV,B-Nll,C-1,D -1l [Option ID = 5180]

Correct Answer ;-
o A-J,B-1I,C-1,D-I¥[Option ID =5177]

31) ldentify the correct sequence of BRICS countries in relation to their Sustainable Development Goals Index (from highest
to lowest) as per the Sustainable Development Report {2020)

A. China
B. India
C. South Africa
D. Brazil

E. Russian Federation

Choose the correct answer from the options given below

e froora DAl (2020) a5 srerenz aan R aga gaohs (caan A fBeean) @ ascst 3 BRICS Soit & w8l sioyagm Bt asarar Hife ¢

A, ot

B. sima

C. 5Rmr amsimr

D. gsfier

E. =i ©s39m

ol fou =re faepodl 3 3 7l St @1 aus difen :

[Question ID = 1296][Question Description = 52_qSNz_PG_GP18_0Q36]

1. C=D=E=A=B[Option ID = 5181]
2. ExD=C>A=B[Option ID = 5182]
3. C>E=>B=>D= A[Option ID = 5183]
4. A>D=E=C=B[Option ID = 5184]
Correct Answer :-

 C>D=>E=>Az>B[Option D =5181]
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32) Kigali Amendment to the Montreal Protocol envisages reduction in HFCs consumption by late 2040s to the eytant pErsonal Exams Guide

#Alfcaa gickora # e Roencll Feias # HFC @ gueietr # 2040 @ corp @ FRLg: oo foesifciRaa A A Roa Hisn awm @il @sol @1 ke Rown
RN B ?

[Question ID = 1297][Question Description = $2_qSNz_PG_GP18_Q37]

1. 50-55%/50-55% [Option ID = 5185]

2. 65-70%/65-70% [Option ID = 5186]

3. BO-85%/80-85% [Option ID = 5187]

4. 90-95%/90-95% [Option ID = 5188]

Correct Answer :-

o 50-55%/50-55% [Option ID = 5185]

33) According to Red list, the percentage of threatened mammals in the world is about

arar (33) 3t @ sropae Riea & gagr: (98s) rasenf=i o gitrera aswmiet fsasn 3 7

[Question ID = 1298][Question Description = $2_qSNz_PG_GP18_Q38]
1. 20%/20% [Option ID = 5189]

2. 25%/25% [Option ID = 5190]

3. 40%/40% [Option ID = 5191]

4. 45%/45% [Option 1D = 5192]

Carrect Answer ;-

» 20%/20% [Option ID = 5189

34) The permissible limit for Arsenic in drinking water, as per Indian Standards [15:10500] is

e #AED [15:10500] & siiar U= s # sRifers ot st e Reaoit 2 ?

[Question ID = 1299][Question Description = $2_qSNz_PG_GP18_0Q39]
1. 0.05 mg/L/0.05 mg/L [Option ID = 5193]

2. 0.5 mg/L/0.5 mg/L [Option D = 5194]

3. 1.0 mg/L/1.0 mg/L [Option ID = 5195]

4. 2.0 mg/L/2.0 mg/L [Option ID = 5196]

Correct Answer ;-
o (.05 mg/L/0.05 mg/L [Option ID = 5193]

35) From the energy security perspective, which of the following energy sources is considered most secure for India?

Tell Fren afRga A arza @ feg Grafaliaa 3 3 e Hia o1 waiftee i Ao = 2 7

[Question ID = 1300][Question Description = S2_qSNz_PG_GP18_Q40]
1. Geothermal/s@ardir [Option ID = 5197]

2. Solar/3s [Option ID = 5198]

3. Wind/maa [Option ID = 5199]

4. Hydro/am [Qptien 1D = 5200]

Correct Answer -

® Geothermal/sgrdir [Option 1D = 5197]

36) Which of the following are 'deemed to be university'?
A, NCERT

B. NIEPA

C. Jamia Hamdard

D. Jamia Millia Islamia

E. T

Choose the correct answer from the options given below:

forrsiftifan d 3 oie - ol "waRkrafenc=r’  :
A vt $amz &

B. oftar (vat ans £ i v)

C. anfrn saed

D. sufdren BiRern ssonfirn
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E.NT
ol v s1e Rwseal 3 A T8 33 o1 aaa Hibe :
[Question ID = 1301][Question Description = $2_qSNz_PG_GP18_Q41]

Your Personal Exams Guide

1. A and B only/sga A 3 B [Option 1D = 5201]
2. Band C only/@ee B diiz C [Option ID = 5202]
3. Cand D only/dwmer C afiz D [Option D = 5203]
4. D and E only/dsae [ sfiz E [Option ID = 5204]

Correct Answer :-
o A and B only/®aa A Jfiz B [Optien 1D = 5201]

37) The NEP-2020 recommends that the duration of the B.Ed. programme will be of
A, One year

B. Two years

C. Three years

D. Four years

E. Five years

Choose the correct answer from the options given below:

wol ¥ Ul - 2020 i argger=n 3 &b dl.us. wrikpa B aalll weilciiaa seit :

A. o ad

B. ot ad

C. ot add

D. = ad

E. ura add

oiil 18 =1u faweal d A 1l Iz D1 T DT 2

[Question ID = 1302][Question Description = $2_qS5Nz_PG_GP18_Q42]

1. A, Band C only/@am A, B 3iiz C [Option [D = 5205]
2. A, Band Donly/smm A, B 3fiz D [Option D = 5206]
3. B, Cand Donly/@mm B, C 3z D [Option ID = 5207]
4. C, Dand E only/esam C, D s E [Option ID = 5208]
Correct Answer ;-
® A, Band C only/aas A, B afiz C [Option ID = 5205]

38) Match List | with List [l

List | List Il

A, NIEPA|, Promotion of quality in technical education
B.NAAC [ll. To promote research in social sciences

C. AICTE|Il, Planning and management of education

D. ICSSR |IV. Accreditation of higher education institutions
Choose the correct answer from the options given below:

TR -1 @ et -1l B AR Hif

it - it -1

A.vaamE fdt g |, crepolidht @1gtr 3F spuras

B. wel v uw 3t 1. soma fismet 3 olitl w1 SeEt Soll
C.oard i & £ 11, fren forister a gderer

D. ad il v va sz IV. 3=a 19sm Szl ©1 Yrare

oftdr v 1o Roseal # A =8 sav gfene
[Question ID = 1303][Question Description = $2_qSNz_PG_GP18_Q43]

1. A-lll, B-1¥, C-Il, D-|[Option ID = 5209]
2. A-I¥,B-l, C-1l, D-I1[Option ID = 5210]
3. A-1I,B-I¥, C-1,D- Il [Option ID = 5211]
4. A-IV,B-1I,C-1,D- Il [Option ID = 5212]
Correct Answer ;-

e A-Il,B-IV,C-Il,D-I[Option ID = 5209]
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39) CBCS provides an opportunity for students to choose courses from: Your Personal Exams Guide
A. Core courses

B. Environmental education

C. Elective courses

D. Computer courses

E. Ability enhancement courses

Choose the correct answer from the options given below:

43l ea. st faenfEal o foseiforiaa 3 21 oI golol &1 AqHT Yglol DX 2 ¢
A. 7 (@) ot

B. uafazmfta fen

C. titz® ot

D. wwyes ®I

E. =i dAaclor ot

oiter faw a1 faasedl 3 3t 7él ane @1 aaa B @

[Question ID = 1304][Question Description = S2_qSNz_PG_GP18_Q44]

A, B and C only/dze A, B iz C [Option ID = 5213]
B, C and D only/@e B, C 3z D [Option ID = 5214]
€, D and E only/a@e C, D 4 E [Option ID = 5215]
A, Cand E only/@am A, C 3fiz E [Option D = 5216]

T

Correct Answer :-
o A, Band C only/@ae A, B sfiz C [Option D = 5213]

40) The key objective of RUSA is to improve:
A, Access

B. Equity

C. Quality

D. Infrastructure

E. Curriculum

Choose the correct answer from the options given below:

w1 (RUSA) o1 gerer 32w B Braftrfaa ar were wswen :
A. g

B. sren

C. aporery

D. smerdyes Hyaon

E. argaaat

ofld R oo Rreseal 9 3 78 3me o awer S :

[Question ID = 1305][Question Description = $2_qSNz_PG_GP18_Q45]

A, B and C only/dgm A, B sfiz C [Option ID = 5217]
B, C and D only/sam B, C sfiz D [Option 1D = 5218]
C, D and E only/asaer C, D &iw E [Option ID = 5219]
A, B and E only/daa A, B afiz E [Option 1D = 5220]

oW o

Correct Answer :-
o A B and C only/a@aa A, B sfiz C [Option 1D = 5217]

Topic:- GP_25NOV_SH1_C

1) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confrenting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) dominant. In almost all of these countries,
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however, the 'middle strata’ remain minorities {(sometimes very small minorities) and have not achieved sufﬁcievt .
; it ’ ’ our Personal Exams Guide
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the ‘demonstration
effect' from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution. Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minorities or alien immigrant groups encountering resistance once they become economically
conspicuous.

oflr feu a1z sErion @ eaEREie uféw a 3ud e go o1e Yol © Jaz 4w |

ftreeter famrrelier Soti 61 wanfors Fizacn 3@ usd @ wigag gaidl & awe F ARG B 30 a3t &t ol € o v a3 iz FProaa: apeiinn
forsorast @ wmast T3t dlar o1 AeFadl w2 3 Hgfy iz fafaeiioozor gar 2 sl a9 ag, on 3 oA, T kgl 3 (R & udl uz wdl, g
IGHICRE AGIcHll T olgvd) JHRIL & meft, sord A oPmiel grdes So1 #, i W Icuima® (oIl - ol sl o srcusis=nr) aon
g3 & 3z 3orol faRreearsil & el taty vewuat giy ol &t 2 faeR) 33 aof @1 ded , ba ad

I3 3z arefte 3 So1 Soft @ iear aell, & = &1 sl owifartiaa gefta A 2, S s| sfieisian st el & g 2 @ goEn, aiea (311 o)
&3l op afa gerel wrel A sitaafyo drgn & wRreT wr wff siftrs wewr; a3, ol serar g sraard # o Asene & sgn, Aoy wr
AxiGors g d daenieh Asren: ol Gdl Alre serma; i, 3o T arel Soll 3 'ggelar g’ 6 sufierfer sasier - armisn:i @1 cPIaR AT
graon 3 Al wffach wwd 3 vady, sl siiy sefdar B amBooa ot sea F9s o1 vy i agoren sowesar § sz sord A oo anfie
<edicpavT 9 354 Yol 1 Adrare oIffp Yrar Aemon @2 313 & aenft B Brafer 8 9 § 3od aore onw § Sl aensrrn aniiike ke 3 308
aitor yfdrmmsi as ik zaa & A orm 2 - fenfbkr onfzar, a3 sziel o gara, SRS - DIl DI olibeNEiaT 3ok Ael Tl Bl
forgm Fdeh anepigind yord 3 aftresior o sitsrondl @ Odtay sraawd Bt Nz & oo Twd T sud sy, aowr maal #, 4 wivelo sa 3
MoUda® AgeRll AT aedl yaril wegl 21 Hdlta 2 foed aniRie wa 21 exmensdl gl &t gidria @1 A6e o usar

The present-day social structure in developing countries is punctuated by

ferperoroftar 29t 3 adae Tl Fioen i o s 2ar g ?

[Question ID = 1306][Question Description = S2_q5Nz_PG_GP18_Q46]
1. Stereotypical classes/wigag (FER=ieirem) o=t [Option D = 5221]
2. Asmall group of upper class/sw @si @1 v @it 29gg [Option 1D = 5222]
3. A vast mass of rural class/apmi el wr v fena seremerR [Option 1D = 5223]
4. A growing intermediate stratum/wE abgeme aomwd == [Option 1D = 5224]

Correct Answer ;-
® Stereotypical classes/=iag (Fiixikiawm) wf [Option 1D = 5221]

2) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confronting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) dominant. In almost all of these countries,
however, the 'middle strata’' remain minorities (sometimes very small minorities) and have not achieved sufficient
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the ‘demonstration
effect’ from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution, Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minorities or alien immigrant groups encountering resistance once they become economically
conspicuous.

oflr feu 1w sErion @1 eaERE® uféw a 3ud e o o1v Yol & Jaz dfem |



WWW.prepp.in

prepp
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omtoressl i TSI Mt g il s iy TR 3 e, word w, we il & (P il arsdiaa © ~ON [ EXams Guide
Fraraiiferas anscrcratl Wi argra) gqurdl 3 aonftr, vordl A oemeT griks Sor H, wew v scuswaw (ol - ol sl oy semise) g

g3n iz 3aa fafdreeansit &6 saelt weifa vwewsuan g a8t & 2 Rt 33 9ot @1 d=a |, o 3

F3dl 3z arclia 3 oot 2ol @ e aoll, @ FeA I IR RwsifeiRaa grila sian 3, =it sr siien=fipa sremn ReolRia & o & @ gua, sea (3ilz swa)
<ol 7 Ugd Yeiol ol A aitaaniye fdign & sfdrer ot dl aidre weva; g, Ul areran oy waaAril # 7a AsPne &l aiien, iy o

At g 3 Aaaiel Jsene ot ol aline @em; dia, S 3R a Soil A 'ygala gum’ & sal3eriv asiet - apianadi @1 oeIaR R
grarar A st wiodt waedl @ Faddyg, ferertt sz sefivn & asbiem o @iz Age o bz off uzarar so awar € 3 Foei A oo s
Feellersoor @ yoa goitforl o agrara oaffs gdo mmwen @ 33 ¥ aenf B Bafer 3 & 3 3o sor onw § st wensaorn snfie Rom # 368
sitor ffdrenT3il e ST T § A oru E - JionBrbia Boizar, 53 3uiel @1 gyra, ORE - Sigal O ARk Jorbl 3aat sl &t
foren Fidelt anepiad Jomd 3 aifdrasier @I ciiszondl A Udar sraAAR &l JIE o = Fdedt & sod sfafys, sors sl &, 4 Firaias = A
JCUHZRRD AGSHI a1 d1gdl yaril A3l 3 J4ifn & Brod snitie wu A exenandl 319 3t gierier o Aes ool usdl &

In the industrialised countries, people attained the status of the middle class because of access to

sitensfaza Soi #, Rrafafan d 7 Bra oo afa @ e aistl o #ezeet o gai for .

[Question ID = 1307][Question Description = $2_qSNz_PG_GP18_Q47]
Formal education/ sfiwari¥e féren [Option ID = 5225]

Ermployable economic sectors/ Brilswtta amikr dig [Option 1D = 5226]

Areas of self-employment/w@serz @& 8y [Option ID = 5227]

Special minority tag/fisha sy dwer [Option [D = 5228]

N PTE  Jy

Correct Answer ;-
s Formal education/sfiganyes fagn [Option ID = 5225]

3) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confronting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) dominant, In almost all of these countries,
however, the 'middle strata’ remain minorities (sometimes very small minorities) and have not achieved sufficient
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the ‘demonstration
effect’ from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution. Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minorities or alien immigrant groups encountering resistance once they become economically
conspicuous,

il R s1g sreivr @) saregde afée @ sad ac 9 w19 Qs @ sav e

siftrrior Reprolier Soil 6 w3 s sm s & wikag guidl &l e oo raliRe o1 o o=t 6 @8t 5t o a3 3 fge=re: syeiior
Torgorast & F1del TSI Blar a1 Aesadl ¥z 3 Hgly i [aidisee g 2 3z 39 a6, oA 3 o, ©o aq] d (91 & udl uz wil, gy
Fraraiiferas ascieratl W argra) gquidt 3 aonftr, vord A cemeT griks Yo H, wew v’ scusiwaw (anh - ol sl oy seissres) g
g3n iz Faa fafdreeansit &6 saelt weila vwewuan g adt & 2 Rt 331 9ot @1 d=a |, o 3

I 30T arelier 3 31 Soll @ Fie gell, & o o1 3R [orgaileian ydia 2w &, =0 s sieslaa el kel 8@ oo 2 @ gua, aea (3l a=)
<ol 7 Ugd Yeiol ol A aftaaniye fdign & sfdrer ot dl aitie weva; g, Uell arerar oy Al i 7a Asne &l aiien, iy o

At &g # Aaael Isene o ol aiine @em; e, S R ac Soil A 'ygola gy’ & sul3eriv asiet - apiansdi @1 oeaR IR
gratar 21 amst wioedt waedl @ Faddyg, ferertt stz sefinn & aetiem o @iz Age o bz off ugarar so @ € 3 e A oo s
Feeflersoor @ woa goitfordl o agrara affs gdo miwon @ 33 ¥ anfl B Bafer 3 & 3 sed sovw onw § st wensaorn snfie Rem # 368
sitor spfdrentail A Hifdm 7 § A onw § - JienBrbi onfzar, 53 seieill o gyra, TRIE - Tigell O sidendio Sorbl st acdi &t
forgn Fidelt anepiad Jomd 3 aifdrasier @I clipzendl A Udkar /ARl &l J1E o = Foedt 2 sud afafys, sors sl &, 4 Firaias =0 A
JCUACARD HAGRI A1 @izl Jaril gl 3 A4t & Bréd anitie wu A exarenodl 31 3t givRIer @I Aol Tl WSl &

What do you understand by 'demonstration effect’ as mentioned in the passage?

srerior A sfeafiaa 'goolar gua’ A ara o=y WA § 7
[Question ID = 1308][Question Description = $2_qSNz_PG_GP18_Q48]
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| 1. Public sector salaried employment as a goal/ariers 8r & aresieh Ieem @ o [Option 1D = 5229]

2. Imitation of consumption aspirations of rich countries beyond one's income /argeil ama 3 98T 8] A Hegg Sl B I areeigma] & aﬁYﬁ}Jﬁaﬁﬁr§onql Exams Guide
5230]
3. Control of power positions/sRE - ugi W riqur [Option (D = 5231]
4. Mobility from low income group to high inceme group/fewet s FE 31 3w o= 20)g o stcgliexn [Option 1D = 5232]
Correct Answer :-
® Public sector salaried employment as a goal/aF=wEre & o et S o as [Option 1D = 5229]

4) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confronting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) deminant. In almost all of these countries,
however, the 'middle strata’' remain minorities (sometimes very small minorities) and have not achieved sufficient
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the 'demonstration
effect' from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution. Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minorities or alien immigrant groups encountering resistance once they become economically
conspicuous.

i R 31¢ srerter o saregds ufen a 3ud 9] gD 31e geat @ Jae o

Aferester famsraiglier off &Y FANT® Fvacl M Uad & wiGag guidl Bl A% Uo ARG BIE Jaa asf & ol 2 9l v a3 3l Faoeren: s
forroreel @ Gl Brex 8o o ey Fae 3 Agly sfiv Rifehosyer gan 3 o0iv srg ag, o0 A oA, T &) d (Rt @ odf a7 s, gua
ISTGAID Aloglcioll I slgrd) YKL 2 aeift, Sold 3 temel Ui S9l 3, '#¢ Wi Acudeas (ol - ol araifie o acusizsis) ol
B31 & sz saer RRrcanil ©9 3ol aain wwwaa gra a8l 6t 3 B 33 g0l o1 daa |, fa ad

Fordt 3 arclter 3 3o1 Sonl @ Jew aeTl, @ wig ot o Beaftfiaa gefta atar 8, st s sfienshaya sraar RoBra & g 3 @ gem, e (3 swa)
%ol TRD Ugd Yool el 4 siivanixe [Digm bt sifdrot w1 wdl affrr sisra; g, Uoll sreman oy <aearl # 3 AsEmR &G aen, Ridw w2
antators g # daoenish Aeen: o Tét AlRtrD sea; di7, 39T AR aeT ol 3 'geofar qura’ &t sufierfar suder - srmignai o eI am
21911 A 3met ittt 35l 8 Fadn, et i s &6 amBrom acr @iz A9 ©f b it gsaren so wrear E diz Jod A @ anfdias
dedicpaul g Ao Poillvdl of e 91ftp Ydar Aen oz 312 & aenfi firar Brafer d 9 & 3o 20 oo § Sl aneieerrn ke ke 3 o8
sitor yRresil o @i w3 § A wru § - gimPrbla Belvarn, 92 saei o gurg, oS - wigeil an siiwvendlorer 3orbl a6 gzl &t
forgm widelt spisnd Jom A ifireeiorn ot siitpeendl @ U9 =Rl Bt 3z & o Aol gD s, e Al #, 9 JFieiice Fu A
AcUID APCrl N aradt garell Jagl A Hdfing 8 fied anidfes =u 3 earenasdt 210 4t gferste o1 AR6l Sl usdal 2

Which of the following are the restrictive factors for the development of middle groups?
A. Attitude of independence and frugality

B. Technological dependency

C. Secondary role of bureaucracy

D. Powerful and large business houses

Choose the correct answer from the options given below:

A WPl D faera A forrerfeliaa 3 3 il - Dlsl A Y€ oo 8 -

A, Taxiqe a Bioerar &t sifigly

B. qienfrchlar ok

C. silozemét Bt i yfdror

D. ofponedt sz a2 s=mafyes oo

oflY R o1e Rreseal 9 3 78 3ne w1 awer St :

[Question ID = 1309][Question Description = $2_qSNz_PG_GP18_Q49]
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A and B only/sae A 3 B [Option 1D = 5233] Your Personal Exams Guide

B and C only/@aer B diiz C [Option 1D = 5234]
B and D only /=5 B Stz O [Option 1D = 5235]
C and D only/d5ae C 3ftz D [Option D = 5236]

Correct Answer :-
o Aand B only/®aa A Jfiz B [Option 1D = 5233]

5) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confronting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) dominant. In almost all of these countries,
however, the 'middle strata' remain minorities (sometimes very small minorities) and have not achieved sufficient
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the ‘demonstration
effect' from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution. Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minerities or alien immigrant groups encountering resistance once they become economically
conspicuous.

i R 31¢ srerier o sareigds ufgn a 3uds a] gD 3¢ Peat @ Ioe o

Atferester famsraiglier off &Y FANT® Fvacl M Uad & Hieag geidl Bl A8 TS ARG DI Jaa asf & ol 2 Al v a3 3l Faeeren: s
fororast < AATesl TSI ST a1 Al Fe 3 Hgiy oz [kElisee 530 3 9T 9 @6, oA 3 @, ©F Sl Jd (gRp @& uel ur weldll, yga
ISTGAID Aloclcioll I olgrd) YUKt 2 denfl, sold A temel Ui ¢9l d, '#8 Wi Acudeas (Ol - ol araifie o acusissis) ol
B3t & sz sael Rrecanil &t saoht aaln vwwaan gra a8l 6t 3 B 33 a0 w1 e |, Ba ad

o 3 arclter 3 3o1 Sonl @ Jew aeTl, @ wigwr oot sine Beaftfiaa gefta 8tar 8, st s sfianshaya sraar RooBra & g 3 @ gom, e (3 swa)
Zol (b UZa Yglol el 9 siiuanise 1 bt yfdme! o1 wét affie ssra; gy, Ul smemr oy caqarl 3 34 A=rene &l aiign, Ry &2
antalors 8] # daoenish Aeen: o Tét AltrD sea; di7e, 39T AR areT ol 3 'ggolar qura’ &t sufierfar suer - armignai © eI am
21911 A 3met wifrdt adt 8 Fadn, BrrerEtt i s &6 amBrom acr @iz A9 o1 b it usaren so srear 8 die o6 A @l
dedfienzr 4 stea1 goitfarit @l Agcaral oIfth Ydas Aol @ 12 & denfr f3rer fFaf 3f 9 2 sords aorp o E ot smneaea anffe fara i 368
siter yfrwsl aw i zaEa § 3 wru § - gisnPrbl Bulvar, a3 seisil o gara, TR - wiggell o silevendisrer Iorbl a6l wdl &t
torem wdelt arpiane Fordl A 2191 Bl diezendl =0 Udas =raAri &t iz o o Al  s3a afifne, aas sl #, a Fireiie m=u a
AcUd APCrl N aradl garell JgEl A Hdfing 8 fed anfdfes a3 eamensdt 210 4t gfersten o1 A6l Tl usdal 2

The passage is focused on

Freriol foraaieifian uz D 2

[Question ID = 1310][Question Description = $2_qSNz_PG_GP18_Q50]
1. The secondary roles of economic evolution/anféler P =6t =iy yfdrond [Option ID = 5237]
2. The rules of bureaucratisation /wiesndiesen & Gy [Option (D = 5238]
3. The need for economic globalisation/anfées =gz Ht srasaesar [Option D = 5239]
4. Developmental options of the intermediate strata/mTad ¥z & Rorreas Freca [Option 1D = 5240]

Correct Answer :-
® The secondary roles of economic evolution/anfe R & sl gfier [Option ID = 5237]



